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 ]��N�� ��
T� # 8%
�9�� :/ ��P� �H
)�
�� }�7 �@��0�� ��Z��� aU/ ( �>�> \/ ª
P�� ��3��� ���PX� R
'��2�
�
�.��A . O�0t� # 
e��� %
X�� O�g
N�� w@g ��
T� IJA # ��,� �.��{� �
�7� �3���
2 ���3�
� �
�7Q� ��� -@��� \/ �

H �02��� �.��{� _� w@g O������ ��Z��
� %
X�+�� ��Z>�� M�� ab� :/ w@g,� �.��{� \/ w@U�� O�g
��� ��y w@g -.

 $%,� C02) O�N��� \b�%1.2.6.(  

3.2  K� 
�I 
���L�+ 
����� %���� 3������� M�M����+ ���',��  

 �� ij� %
��g�� # J"4O�g��b �
N�6 
e���� |
~ �b # ��" �
���  ��~
 !�0= �3g �%
�P+�� O���y �
 ������%����/�@�P�� \9� 
{�6 }���:
  �
���� IJA �/rT� ���s �A)Q� v��3�� # O�
g �7
���� ���qu� ��3N��� ��r�@P+

Zx����(O����/ ��Z�/ �g 8�p� %
X�+��
 O����/ ��Z�/ �g �`0��� %
X�+��
 �
�.��{� ����H� W7
  . :P�
 ��
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 ®������
n 
e3�� 
'�7 |��.�
� 
� aN��/ aPX� �
���� IJA ) �*h��� �*+�(1 . ��t� :/ ���b 8�H aPy ®��

 ���� i��� ����" ��3�7 $%,� C02 w@g O%
y¯� z
P�+� \/ O�y
��� O%
yQ� �/rh ���s -93� 
/�3g ������@� �.
N�+��

��Z��� .�
���� IJA �
'.�� 57���
 :P� �}
03�� �N�E ���b �
���0E� _�
 �
*�+�� ��g _� ���� 4�&��� i��� ��" 
 8K Zn wN�� 	
�Q� ��t� \�q�� # IZ>������ D� ������ �3g GHz 40�
���N� .  

 ������1 �%	
�97� Sb �&�� �
�^��I� ��cD T�� d�� �
�^��I� ���96� eE �#f .  

$���  O�N���1.3.26 �N��M �h�
 ����� 5'��� ���X�� ��t� \�q��� 4�3�@� )5�E }
03� 
� ( 8� # ��2,� �eX�� !2��/ #
�
��� :/ �rb . �N��0�� IJA ��1��� �
«.
�" C3/ 
� !�01��� :/ ���
,� ah���� # 
{
'��2� :P� 
'3�� Z��� 

-�'���� 
� «"��� .��� # �E
���� ��+
U�� �N��0�� 
/� O�N2.3.2 -�N� �N��0�� a'����
 ��t� 5'g -�H aP� �'.�/ �e7 
�
9�13/ ��t� 5'g ��P� 
/�3g �@"�� R
'P�2� ���b� _� �m@�
 ���b 5�'��� ��t�.  

 O�N��� ��N�3.3.2��%
yQ� r�r��� 4�3�@� �N��6  . O�N��� # �/�N�� �N��0�� ;� ��3�� 8J�� ��t� 5'g �N��0�� a'����
1.3.2 
O��h��� a"��� �'@�/ I%
��g
� . O�N��� ��N� ��Z"�
4.3.28�3��� \�q���� !2��/ _� !2���� ��2,� �eX�� a��`�� �N��6 .  

1.3.2 6 �C�N�� �C��N��7��� A6 #�
� ���O6 P�� Q*: AR  

 �����1:  � #��[p� �"
3�� a/
��� ���NK!2���� ��2,� �eX@� �� \H�/ _� ���3�
� ^��� Z� ��t� �
�0�/ :/ �
H�0+� �
 
A���� R
h # �N03�� #)\b�%a��J���  1(.  

 �K�
 �7��� � �'�N@� ���N�� �
�0���K ��~�@� �@��/ -�'�� �N��6 5��0� R
h #
 ) �*h��� \b�%1 ( a/
��� %¡�N¤�
���
��� �02��� ��2,� �eX@� #��[p� �"
3��:  

  42,0003,09,3 110
−−−= a

dN
sK  (4)  

 �h dN1  ��� # �3��/ �0N+ # ��%
�P+�� G°%�� �A65 R�" 
Aq

� -�� � �p� :/ ����/ %1
 �3��� !2��/ :/ sa 
�N03�� IJA # ��E%,� o�%
9��� !© ���� �A.  

 w0��
dN1 :/ R�0��
 $���� ��0t !0d # °1,5 ��~���� # ��� ITU-R P.453 .g R��T� �[�3�
 �N�H��� �'�N�� w@
M0� �@"���� R
'P�2�
� <�H,� \�%,� !01�� �
N+ -�H _� ���
3�2� Z��� c��3/ �0N3� R�0��
 $���� �0t . �7���


 ��������� ��
���� i�P/ # R
�b aPy w@g �
�0���(BR).  

 ��`��
sa  o�%
9��� �
g
��%� 8%
���� |����� ;+��)%
�/,
� (03/ # 
e�h
�/ �Nkm 110 × km 110 
A%�H �+
��2
�
 
s 30)  �
�0��� R
U/“gtopo30” Globe .(
�

���� �N03�� 
��+ \N�  �± �
�+��6 �N03�� ��`�� �� �[�3�
� ²+
b w@g 

Z��� !2
 �0N+ # �� 8J�� ª��0�� !t� . D+��+Q� �P�y w@g o�%
9��� �
�0�/ �7���
)@g R��T� :P� ���3��� w
��������� ��
���� i�P/ :/(.  

 <
�h 8%
�9�� :/ �
V �K�
K !�01��� $��n, �g��� ) �*h��� \b�%1(���N� <
�h ���b� :P� ³ �h _� 5�H� �
�H���� �02��� 
/:  

  10029,02,4
10

dN
K

−−=  (5)  

 �����2:  <
�hZ��� a�/  (mrad) |εp| �.��{� �
��%� _� ���
3�2� Mhe 
hr) �`��� C02 ]���/ }�7 %
�/,
�( W�K
 �
�H���� �02���:  

 dhh erp –|ε| = (6)  

 �h d Z��� R�6 �A (km).  
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����� 3: ���x�� ���3�� i�� pw ��t� 5'g q

� 
A�
3>� -�� ?�� DH��� :/ (dB) A �02��� !2���� ��2,� �eX�� # 
��n, W�K
 ����
��� �H���� 5�H��� ��~��� -�'�� $)M�*h��� \b�% 1
 2(: 

 %10)|ε|1(
10/00085,0032,097,02,3 Ahf

pw
LKdp

−−− ×+= (7)  

  �hf ������ �A (GHz)
 �hL ��,� �.��{� �
��%� �A ) Mg
��%�� �'�H �[~� 8�he 


hr( #��[p� a/
��� ��3�  �h
 
 �"
3��K ���
��� R
'��2� :g (4).  

 !�01��� �
N��0� _� ���3�
� :P�
 �������) �
�*h���1
 2( ���x�� ���3�� <
�h �pw 
A�
3>� -�� ?�� DH��� :/  q

�
 ��t� 5'g(dB) A���
��� �02��� ��2,� �eX�� # :  

 %10)|ε|1(
10/001,0033,02,10,3 Ahf

pw
LKdp

−−− ×+= (8)  

 �'�H ��3�  �hK  ���
��� R
'��2� :/(5).  
 ������1 � �� ������	 
	��
� ��������	 �������	 �������	 ������	 �� ������	 �����	 �(4)� (7) � !"�# (5)� (8) �$ !��%�& dB 5,7� dB 5,9 

 '	(��	 )*�),�-# ./ 0�� �1 2	34��	 �� 05���	 0����	 6�7 8 �9 .( �1 <��=� >�# ��?@A	 BCD 8 0����	 2	3E�	 �1 F�	(�	 G?�	 �H
 B�IJ� ��K*� �����1 
	��	dB 5,2 �L�M �(?= N�	 0=O�	 2	3E�	 8 m 700 > hL  B�IJ� ��K*� �����1 
	��	 )PJ#�dB 7,3 2	3E�	 8 

B���	 Q(M . �������	 �������H R�*� �(PS	 �?T N�	 2	�����	 �EU 0JIH V?�W " 0�����	 ������	 
	��"	 G�J �H X�E��	 Q�Y�	 �# 3Z(4) 
�(7)[(�	 ��\ 8  0�]���	 3Z V=��^��	 2	7 _`	�A	 8 2
)!
a1 ���b	 ( c�]�%"	 dI=I@ e�# 8 �#)!
a1 B���	 Q(M 2	3E�	 .( fYg	 I�M

 0�*�b	 2
[(�	 8 ��K*� ������	 
	��"	(m 700 < hL) �	I�9 ��a�	 h��� )*� idB 0,60�YW��	 0�*�b	 <j���	 Q(M �k N�	 2
[(�	 8�  
h�E=� dI� �	I�9.  

 ������2 �  2"����	 l��W(7)� (8) i�(4)� (5) 8	�4b	 _-���	 h1����H 0�*���	 K 8 (��	 2����� d�I��1 2��m	�W �1 251 <j��1 8 0*[� 
 �D3E1 �(j n�	��= o���	 8 0Y*�p 0�M	�4m 0�-��1d �H 7,5� km 185 �q	���W n�	��W� f  �HMHz 450� GHz 37 3E�	 h�1 hP=� |εp| 

 ./mrad 37 >�A	 _r	(s	 t�YW�	 n�	��=� hL �H 17� m 2 300 ��E?%u	 v�IW� dN1  �H860–� 150– NdI\� /km V=��^W 8 �=��W� 
 x�E�	sa  �H6� m 850)  ��\ 8m 1 > sa >�# yI\ ������	 _4��=  B�IJm 1.(  

 �
���
��� ����
(7)
 (8) �
9��  _� a�� ?�� ������@� M�T
~GHz 45��� �`V  . �� _� ²��� ;�y a�@� �.
�+ ZX�

Z��� R�6 \/ �
�Pg i2
3�� ��,� ������ �h . ���,� ����@� �T� �J{ ²��N� ���N� w@g R��T� :P�
fmin� R
'��2
� 

���
��� ���
���:  
 GHz/15 dfmin = (9)  

2.3.2  �C��N��R7��� A6 ���O�� ���!�� S�.	 �C�N��   


e�~
 ��� ?�� �N��0�� �� M� \'� ��t� 5'g q

� 
A�
3>� -�� ?�� DH��� :/ ���x�� ���3�
� 4�3��� _� |�´ ?��
 ��� 
'�7 
\�q���@H ��1@� ²��m��� �@"���� R
'P�2�� ���b� M�
 �N�
��� ���N��� # O�%���� 5�'��� ��t�  :/ aH,�
 5'��� adB 0.  

 �����1:   O������ ��Z��
� %
X�+�� a/
g i��p0 

)  i�3�� %��
 5�'��� ��t� \�q�� ^`3/ \6
N� �0N+ # �'�N�� 8�
DH�@� ���x�� ( O�N��� # O�%���� �N��0�� �
��
� W�K
1.3.2	
��� �`3�� w@g �: 

 %10)|ε|1(
00085,0032,097,02,3

0
Lhf

pKdp
−− ×+= (10) 

 ���3�
�
 �'�H a'���� �@������ ��~��� -�'�� �
N��0� _�K ���
��� :/ ��
3�� (4)	
��� �`3�� w@g �: 

 %10)|ε|1(
001,0033,02,10,3

0
Lhf

pKdp
−− ×+= (11) 

 �'�H a'���� ������� !�01��� �
N��0� _� ���3�
�
K ���
��� :/ ��
3�� (5) . M���
��� �� _� O%
yQ� %��
(10)
 (11) 
�
�'@� �
�x7
P/ M��(7)
 (8) \/ �0 = A.  



9 ITU-R P.530-11 ������� 

 �����2:   ���t� 5'g �'�H <
�hAt 5'��� a�@H ��t� \�q�� _� 5�'��� ��t� \�q�� :/ R
N�+�� 
A�3g ®�� ?�� �
²��m��� �@"���� R
'P�2�� i�h: 

 dBlog2,125 0pAt += (12)  

 D+
V �K� 
/ w@g �J.�3g ���bQ� cH���
A  :/ �[~� �� �V�At.  

 �����3� :( <�@0�� ��t� 5'g �
V �K� A �
�

�/  ³�At;3/ �V� 
� :  

DH��� :/ ���x�� ���3�� i�� pw �'�N�� q

� 
A�
3>� -�� ?�� A!2���� ��2,� �eX�� R�" : 

 %10
10/

0
A

w pp
−×= (13)  

 ���
��� �� µh��(13) ���
�'@� �x7
P/ (7) 
� (8)��
T� 57
 .  

����� 3� :( <�@0�� ��t� 5'g �
V �K� A :/ aH� �At:    

DH��� :/ ���x�� ���3�� i�� pt �'�N�� q

� 
A�
3>� -�� ?�� At	
��
V !2���� ��2,� �eX�� # : 

 %10
10/

0
t

A
t pp

−×= (14) 

 ���
��� �� µh��(14) ���
�'@� �x7
P/ (7) 
� (8) \/ ��
T� i�h At = A.  

 i��aq′���
3�2� R
N�+�� ��" �'�H _�  At  R
N�+�� DH�� ���x�� ���3��
pt	
��
V :  

 

tta
Apq






















 −−−= 100100lnlog20 10
'

 (15)  

 i��qt���
3�2� _�  aq′ R
N�+�� ��" �'�H
 At	
��
V :  

 ( ) ( ) ( )800/103,410103,012
20/016,020/

t

AAA

at
Aqq ttt +−




 ×+−= −−−' (16) 

 i��
qa 

�t� �'�H _� ���
3�2� �A	
��
V <�@0�� :  

 ( )
 ++











 ×++= −−−

800/103,410103,012 20/016,020/
Aqq A

t
AA

a (17)  

 DH��� :/ ���x�� ���3�� i��
pw� q

� 
A�
3>� -�� ?��  5'g ��t�(dB) A	
��
V !2���� ��2,� �eX�� # :  

 ( )[ ] %10exp–1100
20/Aq

w
ap

−−= (18)  

 ��P� �� ��y I�g� %�VJ�� ���bQ� �0��
2 000 > p0�N@� �
���% ��Z[� � �'pw _� ���3�
� A ab� :/ ;�
'��2� :P� 
 ����A �3��/ �'�N� ³� pw�0��� ��%��P� ��@'g �02��� .  

 aPX�� # �3���� �
�3`3�� �g�'S ��N�
3 �'@��� \/ p0 

�N��0@� �
�+
�� �
E�g.  
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 �����3  

�	��� 
� ���
�� ������ pw ���� ��� ���� ������� ��� ��� A!� "#$�� % &'���� ��' ()* �+,�� -� p0  
) ��/�,��(10) �� (11)���0� 1�2  ( 4* 5��"�60,1� 1 000  

 

 �
���

�
�� 

�	

 

��
�


 ��
���

�� 
��

� �
�� 

�
�	

�� 
��

 �
�	

���
 �

��
���

���� ���(dB) A 

  
3.3.2 7�8�8,���* 9����� �:�";  

������ ���	 
��� 
��� �� ���	 ��� ������� ������� ����� �!���� "#$%�� &'( ���)*� ����) ��+�+�	 �,�-	 .
 /
0 ��+�+�1� ��21�� 
3#dB 10�4��1�� ������� �56�
� 76
1�� 8
69� $�-�� : :  

  %10–100
5,3/)–2,07,1(– 01,0 EA

wp
+=              <=8 >! dB 10 < E (19)  

 ?4@E +�+�1�� 
, (dB) ���� A�2B8 CD#�E F1� G �H�� %p# IJK
�� >! A0,01 L
�M� NK
1�� 
��� O�P 
,  �� Q���216�
��� ����(7)  #8(8) ���R� 
�@  ��
S! ���� A�2B8 CD#�E F1� �H��#%0,01 = pwJK
�� >! .  

 T� +�+�1�� <=8 >! I<��1��10# dB 0�
5( A�$=U� IVW�1�� �
5(:  

 �����1:   JK
�� >! ��
S�� ���2�� 
�X'
w
p  �#��� +�+�1� ����Y��dB 10��4Y�� CH, >P <Y� #8  )E ′ = 10( �56�
� 

 �������(19).  

 �����2  :
�X '
e
q�4��1�� ������� �56�
� :  

 



























 −−−−=
21,58

100
1lnlog

20
10

w

e

p

E
q

'

'
' (20) 

 �����3  :
�X ������ qs 

�4��1�� ������� �56�
�:  

 3,2005,2 −= '
es
qq (21)  
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 �����4  :
�X qe 

8 >! ��4K <=E 
� ��40 L
\$���4��1�� ������� �56�:  

 ( ) 
 ++











 ×++= −−−

800/101210103,018
20/20/7,020/

Eqq
E

s
EE

e
 (22) 

 �����5 : +�+�1�� D#�E ��]�2B8 F1� G ��� JK
�� >! ��
S�� ���2�� ^�P <_`(dB) E�4��1�� ������� �56�
� : 

 











= 20/–

10–exp–121,58–100
Eeq

wp (23)  

 <a-�� : ��42b2�� �P
�c d5�	41P� N! I�Y�$5�� Q�4��4� Q'4ef ���0p����!)  ������� N=��(10) #8 (11) 
�@���R�  .(
 <a-�� : >b2! <g &����#4 <a-�� : >b2! 3 ��4K h�� i� 0p . <a-�� j8 �� ���)U� ��E#4 ��
S�� ���2�� k�Y� 

 ��#���� ��+�+�1�� D#�E �,A�2B8 F1� ��� JK
�� >!(pw – 100) jl� F���� N! Ipw T1������ : ^5�	 (19)# (23).  

   �����4  

 �	 �
���� �
���� �	���(pw – 100) �
����� �E ����� � ����� ��
 ���� �!���� "�!#�   
$%& �'��� (	 p0 ) ��*����(10) �" (11)���+� ,�-  ( /& 0����10,01� 1 000  

 

 �
���

�
�� 

�	

 

��
�


 ��
���

�� 
��

� �
�� 

�
�	

�� 
��

 �
�	

���
 �

��
���

�������(dB) E 

  

2���56
1�� �2��� : D#��1�� >! ��
S�� 
�2��� ��21�� �� ����-�� >! QG�� �$Y��� $%�� I76
1�� 8
69� $� 4.3.2.  

4.3.2  �	 2
�3��� (
��1�
����� 4��
����� �!��	 56 �!���� "�!#� �����  

 +�+�	# 
��� ����D
	 <�
X >am ����)U� 76
1�� 8
69� $�-���� ��
�M�5� ��$Y��� : �!�Y�� O]�$1.3.2 �� 3.3.2I 
W�1�� A�$=U� �56�
� �56
1�� �2��� N�D
	 ��:  

 �����1  : JK
�� >! ��
S�� ���2�� 
�Xpw 
��� O�P D#�E ��]�2B8 F1� ��� A $�-�� : N�D
1�� >! ng9� <�H�� : 
 ������� �56�
� I76
1�� 8
69�(7) #8 (8) 
�@���R� .  
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 �����2  : :�$op� d(�2�� d�1���\
��� <�
b1�� <!�P 
�`∆G�4��1�� ������� �56�
� :  

 ( ) ( ) dBε1log7,log7,2–cos,log6,5–5,0 |||| 7,0
pdG +1+ξ2±111=∆ (24)  

?4@ :∆G ≥ 10,8 dB��=
�� �!'��� <��1�	 ?4@#   <=8 >!ξ ≥ °45<=8 >! ������� �!'��� <��1�	# I: °45 < ξ?4@# I:  
  ξ:   q$��� 7(N°) #8 (S°  
  d:  r ���� &
(km) 

 |ε| p:  <4! ����) Q�K'5�� >! ������� (6)(.  
 �����3  : JK
�� >! ��
S�� ���2�� 
�Xp 
��� O�P D#�E ��]�2B8 F1� ��� A : ��a�� 
��� O�P �s N�D
1�� <�s : 

�4��1�� ������� �56�
� �56
1�� �2���:  
 p = 10–∆G / 10 pw           % (25)  

 �����4  : �$Y��� : �!�Y�� �Y�$5�� N�1	 IN�D
1�� : O���� <4�K 
��� t�! &���16� 
�5� �!�2P2.3.2 H(l	# pj�a!  pw.  
 �����5  : ��+�+�	 N�D
1� ��21�� 
�5� �!�2P ����)U� �$Y��� : �!�Y�� �Y�$5�� N�1	 I�56
1�� �2���3.3.2 . ?4@A0,01 

 ju� 
, A�2B8 : CD#�E F1� �H�� 
��� O�P%0,01�56
1�� �2��� : JK
�� >!  . ^�P QG#8 <_`#pw ������� 
�Y� (25) 
 &���16�#%0,01 = p . 
��� O�P ^�P <_` vA0,01 A�2B8 CD#�E F1� �H�� %0,01 
�Y� �56
1�� �2��� : JK
�� >! 

 �������(7) #8 (8)���R� 
�@  &���16�# p >! QG�� pw.  

5.3.2  �78#� "�!#� 4���9�� 56 �!���� "�!#� ����� �	 2
�3���  

 JK
�� >! ��
S�� ���2�� <�
X >ampw 

 O4���� 
��� D#�E �,A�2B8 F1� ���A >! ��
S! ���� �� 76
1�� 8
69� $�-�� &'( 
 JK
��psw 

9� �$1��� : O4���� 
��� h�� D#�E �,A�2B8 F1� $�) >! $_K9� 8
6T�4��1�� �G����� &���16�� w�s# :  

(26) )( 676,034,89
854,0– +⋅= Tpp

wsw
 %1 h ≤ T < 720 h               ������ �� �	�
��
���	�� ����� ����� �  

(27) )( 295,0119
78,0– +⋅= Tpp

wsw
 %1 h ≤ T < 720 h   �� � ������ �� �	�
��
����	� ��������� ��� !�"  

(28) )( 175,085,199
834,0– +⋅= Tpp

wsw
 %1 h ≤ T < 720 h             ���	�# ����� ����� � ������ �� �	�
��
 

 ������1 � $� �%&�'�� ()
* (26) �� (28) +�')* ,�� ����'�� $�  
25 �-�.�� ��/012 ��0)'� +��
� � 3.* ��4# pw  �� ��&�
)5� �6�7
8�9�� :6;� ����'�.  

6.3.2 ��������	� 
� ��
��	�� ����)  �%@'�� N=��1(  
 x�5Y�G� &��1@� 
�` I�4�K� ��y# F4�_	 �2PPns d]�Y1�G� �\ 
��� j
a! �� �]���� ) �$Y��� N=��7 ( �o4_�� �56�
�

�4��1��:  
 100/

wns
pP = (29)  

 ?4@pw (%) d,  ��� JK
�� >! ��
S�� ���2�� F1� �,A�2B8#�E D 
��� >! ����R� F%12��(dB) F = Al5�� &��� <��Y��  : 
 ��1���(BER) 76
1�� 8
69� $�-�� &'( ) �$Y��� >! ��4�P <_`1.3.2 #8 2.3.2���R� 
�@  .( �� <y
1�� >am#

 F%12�� 
��� >! ����R� z!�,F�y��� ��+4��1�� N! �$0
1�� ��!
���� >!# ��y
�� L��@ >!  ���1PG� : H(�� ��g 
 �� ��]���� ���1M� ��{4�|1���4����� ��y
�� F4�_	.  

 ������1 �=  ��)	�� � >�?� �0'� @�AB @� ��-)�� C�>
 D��	)�� �
E F��.�%� &0(BER)  $� !�"� G�	)'�� HIE J��K �-6� �
�'� �	)") $� 0BM�
 N:.O�� 3��� �����'��7.(  
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7.3.2  ��� ��� ����������� !"�#�� �$�� %&' (�  

 D#��1	 ��+�Y�� ����1! ��y# : ��#�}� ��+�Y�� ^�P 
��� ~��@8 j8 ^�P L���1�� J��dB 20 :�_�� 
p� "#$� : 
/'rU� ^�P �5��$1! �\ j
a	 ��a	 . x�5Y�G� JK# Q�4��$Y	 d5�� ���$��� ��+�Y�� x�5Y�G� �2!D8 x
�c jl� d@
� ��

! ��������s �4�B��1�� ��%��� w�s# �40��$1�� ��+�Y�� >�{�$P 
��� >! ���� z!�
, I ��$1�� 
�( ^�P O�52� �H,# 
Q��! T2BG� #8 F%12�� 
��� #8 d]�Y1�G�.  

 >! :�_�� 
p� "#$� : d�a�� x�5Y�G� &��1@G ^�P9� �+�Y�� ^�P &
_R� >am ����1�� ��+�Y�� ��y# �� ��40

�c 
��� O�P D#�E &��1@G L$K9� �4���� �+�Y�� $��Y	 >am ��2!# ���$��� ��+�Y�� ^�P x�5Y�G� �G��1@� xA : 

 >! ��y#n �+�K ) T1%@'�� N=��1# 2(:  

 ( )∑∑
−

=
+

=
−=

1

1

1

1

n

i

C
ii

n

i

iT PPPP (30)  

 ?4@Pi 

 �+�Y�� i� l�21�� x�5Y�G� &��1@� 
,i ��+�Y�� <�c >! n# :  

 





≤
≤

=
A

A
C

dB20for1

dB10for8,0
 (31) 

 ������1 ����� ��� !�" 0-)'B N�#�Q)�� ��MO.�� !�" �	?� R
 D
�:)�� @� 0.)'B  . ��&�'�� S0.*#(30) (T�)� !�" 0
)�B ���5�)� 
 !�" JB:�� ,�� ��5��.��47 U��
�� � R���" :9	�� DV !�" N�#�Q)�� ��MO.�� $� ���#W GHz 5E�0� X#�:)B ��� ����� 3�  R
 �11 

#km 97 Y�	B ��� ��� D5�)�# km 45��	B:.* .  

 ������2 �  R
 X#�:)* ,�� �	?� U�-"Z10# dB 20 [�.�� D
�:)�� \]5� R
 \�V \�V�& ��-A)5� ^�:�� X:).B 0,8# 1.  

4.2 )�*� +�,� -�.� /0����  

� A���� ��e1�G�# ��_1!'� ��41� T,
1�� Q�{�8 ~�` j8 >amL��{��# ��$����# �
�e��# $5�� <e! �
p . >a��� >! i�8 N!#
 >! ��8 ����$	 �2P $5��� T,
1�� <,�EGHz 5 I^�P9� ����$1�� �2P F4�_1�� �����@ : i=���� 
3 i�8 G� IQ���$Y	 

x$68 ��
_� i14�8 ���+1	 ?4@ .�$Y��� d5�	# 1.4.2$5��� T,
1�� ��4]�_@� $��Y	 �42Y	 <�
5�� t��� ^�P  . ^�P �!8
 Q�24,
	 ��r$�� �
�e�� 
��	 j8 >am I��8 q$P �
5( �2P ���	$�� ������ : #8 I�4��P q$P �
5( �2P ������

����$1�� >! N6#8 t�! ^�P �@ Q�4�G� .�4y
1�� k�Y	# ITU-R P.840 A��� i���� �H�� T,
1�� >P Q'4_�	 $eg8 ��!
��! 
 >! �
p�$5�� �\.  

 ��
S�� 
�2�� "�{	 j8 I������ ���	 
��� 
���# $5��� T,
1�� ���Bl	 ��40 ^P�$	 j8 
3 ��� ����$1�� �2P I>am
T14�u� T	�, >! <a� ����Y�� T�! 
�( O�P D#��1�.  

1.4.2  12�
�� 3�,� %&' 4
,� -�.� /0���� �����5�6  

4���� �42Y1�� <��1�	 j8 >am<�
5�� t��� ^�P $5��� T,
1�� ��4]�_@� $��Y1� �4��1�� �5:  

 �����1:   $5�� &��! 
�`R0,01 A�2B8 CD#�E � �H�� %0,01 JK
�� >! )��@�# �Y4K� >! <!�a	 JK# N! .( � �s�#
� �� $��Y	 A�$=� >am I�4�� ���_! >! <�
5�� t��� ^�P ��6�4Y�� &
@ ��!
���� CH, $0
1	 �!�Y�� ��!
���� >! Q�K'5�

 �4y
1�� :ITU-R P.837.  
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 �����2:  T��� T,
1�� 
�` (dB/km) γR 

 �4y
1�� �� ��216G�� �42��� $5�� &��!# L�5Y16G�# ��$1�� <!�
P <=8 >!
ITU-R P.838.  

 �����3:  ` &����� ���� &
r 
�deff d����� ���� &
r L$� &'( >! ��y
�� d �0���� <!��� r . �4��1�� �K'��� d5�	#
<!���� �H� Q�$��Y	:  

  
0/1

1

dd
r

+
= (32) 

 <=8 >!# I?4@R0,01 ≤ 100 mm/h:  

 d0 = 35 e–0,015
 R

0,01 (33)  

 ��4K <��1�	#mm/h 100 >! QG�� R0,01<=8 >!  :R0,01 > 100 mm/h.  

 �����4:  1�� Q�$��Y	 �4��1�� �K'��� d5�	 A�2B8 CD#�E F1� �H�� ���� ^�P T,
%0,01JK
�� >! :  

 A0,01 = γR deff  = γR dr                dB (34) 

 �����5:   JK
�� >! t$(8 ��
S! 
�� A�2B8 CD#�E F1� �H�� T,
1�� �'|16� >amp t��� : %0,001 �� %1 I
q$P �
5( : ��K�
�� ��
���$�� �'y
�� �� ���2��� °30 $eg8 #8 )Q��
2= #8 QG�� (W�1�� d69� j
��Y�� >! Q�K'5��:  

 

)log043,0546,0(

01,0

1012,0
pp

p
A

A +−= (35) 

 <!�
��� A�5PU ������� CH, ���@ �Y�0,12# 0,39# 1# 2,14 <=8 >! %1# %0,1# %0,01# %0,001 IW�
1�� ^�P I
t��� �H, <(�� G� <��1�	 G8 
3#.  

 �����6 : �'|16� >am4K  JK
�� >! t$(8 ��
S! ���� A�2B8 CD#�E F1� �H�� T,
1�� Fp T� t��� : %0,001 #%1 
 ���2��� >! <K8 q$P 7( : ��K�
�� ��
���$�� �'y
�� ��°30) Q��
2= #8 QG��(W�1�� d69� j
��Y�� �� Q���216� I:  

 

( )pp
p

A

A
10log139,0855,0

01,0

07,0
+−= (36)  

5�	 
� ^�P �o4_�� CH, ��b1	# <!�
��� i40 d0,07# 0,36 #1# 1,44 
�2�� %1 #%0,1# %0,01# %0,001 ^�P 
t��� �H, : G� ��Y4�5	 k�P do�2�# IW�
1��.  

 �����7:   JK
�� >! ��
2��� ��
S�� 
�2�� 
�X Ii40 Q��
\$! 8
69� $�-�� ��4]�_@� ^�P &
_R� j
a� �!�2Pp 
 ��
S�� 
�2�� ����Y��pw69� $�-��  �4y
1�� : ���M� ��2�� >P ��!
���� &'( >! I8
ITU-R P.841 . F4K �� ���2���#

A JK
�� >! �24�! ��
S! 
�2� �,D#�E F1� ��� p >! ����Y�� ��
S�� 
�2�� A�2B8 : Q�{�8 �,D#�E F1� I�2��� ��68 ^�P 
 JK
��pw8
69� $�-�� ��68 ^�P .  

 ��-�� ��21�� A�$=� n1��# �� <_	 ����$	 �2P <K9� ^�P I����� A��8 <g : Q�R�y C'P8 i4��GHz 40 &
5� F4K <=8 >!# I
 �� <_	 ����km 60.  
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2.4.2  �	�
�� ��
� ��� �

� ���� ������ �������� � �������� !	"�#  

am I�@�# ��$	 �2P <�
r t�! ^�P T,
1�� &
@ �K
B
! ��4]�_@� $0�
1	 �!�2P : �4��1�� �4��$�1�� ������� <��1�	 j8 >
��$Y	 $��Y	 ^�P &
_R�� : t$(8 ����$	 <=8 >! T,
1�� ��4]�_@U d t���7 �� GHz 50 ����� �+�Y�� &
5� 
����� �4(�2�� �Y52�� :#:  

  ),,(–1
1212

121)/(
AH

AA
ΦΦΦΦ= (37)  

?4@: 

 

24–

2

101
)(

f

f
f

+
=Φ (38) 

 

55,0
11

5,0
12

3
121 )()/(1012,1),,( AAH ΦΦΦ×=ΦΦ −  (39)  

 ?4@A1 # A2 $5��� T,
1�� �1�4K ��  :��U� >���$1�� �2P ��D#�E �G��1@� t#��1	 ���f1 # (GHz) f2W�
1�� ^�P I.  

3.4.2  �	�
�� ��
� ��� �

� ���� ������ �������� � $�
%�&'� !	"�#  

 �@�# L�5Y16� �2P <�
r t�! ^�P T,
1�� ��4]�_@� �=
	 �!�2P) d68�dY08 #8 ( $��Y	 >am I�24�! ��y# ^�P
�4��1�� �54���� ������� �56�
� I����� ��y
�� ^�P $(u� L�5Y16'� T,
1��:  

 dB
335

300

H

H
V

A

A
A

+
= (40) 

#8:  

 dB
–300

335

V

V
H

A

A
A = (41) 

Y�$5� �R�_�� ����$1��# ������ &�
r8 t�! : T1R�y j�	������ j�	�, n1�	#� ��21�� � �$Y��� : �!�Y�1.4.2.  

4.4.2  ��(� ��) ��������*+,�� ���),   

 ��45��� ��� $0
1	 �H, �2!
� �@ 
��� ��� d����� N�D
1�� >P ��!
���� ��K >! F\$���#��$E �s
�� ��4]�_@U� ���� d
iB#�@ ��$! ��P# 
�|�� �56
1�� ���� <e! �y���. #��� 
��� &��! j8 ���
�� >! ���	 
��� 
��� &��! >! �ea� <K8 $5

������ .
��� ��! N�D
	 ���� �� w�s �-�# 
��� ��� �56
1�� ��4Y��# 76
�� ��4Y�� ��1� It$(8 �4@�� >!#. �#'P 
1�� ������� ��-1�G� &�@ : ��2! �ea� ^�P8 $5�� : 
��� ��! j8 ^�P &�	 ��eg ��!'P ��2, w�s ^�P����.  

 T,
1�� ��4K D#�E i�l� �2, 
��� ��b1�#A JK
�� >! �! �$10 A�2B8 ) &�e!s 10$eg8 #8  .( ��$! ��P T� �!'��� ^5�	#
 
��� ~#�@N(A) �56
1�� ����# Dm(A) �4�a�� ����# 
��� �H� T(A) T,
1�� D#�E F1� ��� A �42!D �$10 : �,A�2B8 

: ���� ��4K >! &
r8������� : 
 N(A) = T(A) / Dm(A) (42)  

 �4�a�� ���� O��1	#T(A)
��� ~��@ ��$�1� 
�|�� . T,
1�� 
, Q�!
�P ��Y4�51�� F�� �H�� 
���#  A i	�! �#��	 �H�� 
 /
�	 #8s 10 . $_K9� 
��� j8 �\) i	�! j�41P� <y�0 <e!s 1L���1�� : <��1��  (�� ���2�� ���b1� Q�{�8 �4�! >! ��
S

 $�41�� k�P >P F=�2�� d�a�� x�5Y�G� JK#) /
�	 #8 �#��	 ��� 
�|�� �4�a�� ���� �8s 10.(  
 T,
1�� ��4K D#��1� �H�� 
��� ��$! ��P <4ef >am#A A�2B8 10�4��1�� �������� $eg8 #8 j�
B : 
 N10 s(A) = a Ab (43)  
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 jl� F���� N!a# bj'!���� �� �� j�H��� ��2�� <e! t$(8 ���o1!# ���� &
r# ��$1��� ���r��	�� q$1.  
 &
r ��! ^�P J�$=8 ��6�4K �P
�c �� Q���216�#km 15 ��$	# GHz 18 j�1�4Y�� j
a	 �40���2a6G� �$�+p� i�) : a 

#bW�1��g ��!�g �26 &'( j�	��Y�� :  
 4,3107,5

5 −=×= ba (44)  

 ��4Y�� ���X ���#N10 s(A) ������� �� Q���216� (43)L��@ >am I��!  �56
1�� 
��� ��� �#��	 s 10 >P ��2P ��+	 #8 
 ������� haP O�$r(42).  

 Q�Y��6 ��
gH�� ��6�4Y�� <�c �41�#) i�
r ���km 15 ��$1� GHz 18�40���2a6G� �$�+p� i�) :  ( k�P �� x�=�U�
 T� �#�$1	 ���� $�41��%95# %100 �,�
1�! D#��1� ���# $5�� >P ���2�� $,�
%�� N4� >! dB 15Q���$Y	 .  

 T,
1�� ��4K D#�E CA�2B8 F1� �H�� JK
�� >! ��
S�� ���2�� : i�$� O�$r >P $�41�� L��@ >am A+p� �H, �0$�! ���#A 
 �$Y��� : ����
�� �Y�$5�� 
�@ �24���1.4.2.  

5.4.2  -�.�� ��(���/0%�� 1��2�) ��3�4�� � �

� 5� 6  

 Q��#� �
p� A���� ��%12�� �\ �42��� ��40 ���	 ��� �5Y� �� �5Y� >! ��a�-�� : �!�, ��+�Y�� ����1! �'4a-	 ��P ��2,
	 ��1�	 �a�) : ��+�Y�� >! �'��6 ��P #8 �40��$	 �a�) : ��+�Y�� >! ����6 �
X ��� ��4a-1�� ��46 G#����� x
2.  

1.5.4.2  ��/0%�� 7�8��9���# �3�: �   

���1|�� �'y
�� ��-1�� �]�_� ��g �@ �� :��$	 k�%2� W��U� &�6�U� A��8 $Bl1� . ��y
�� OYX j8 IQ���4@8 I>am#
��+�Y�� &
5� ���1� ���4g$	 �56�
� ����� �4���U� ������ .�� ��+�Y�� &
r ����D Q��1@ ���	# �G��1@� ����D 

��+�Y�� CH, ^�P x�5Y�G� . �� w�s ���� G �K# I��+�Y�� ��P �4Y2	 �
5�� CH, 
�51	 j8 It$(8 �4@�� >! I>am#
:��$1�� k�%2�� W��U� A��9� ��5��.  

2.5.4.2 ��9������ ��;�
� ��� <����) ��=  

1� Ij�a�� >P Q�4]�_@� Q'Y1�! ��5!9� &
5, j�g 
� I�40��$1�� �'y
�� >! �45( ����6 : 
�|�� W��U� &��1@G� ��b
�4��1�� �K'��� �56�
� I�4= 
�$Y1�:  

 ∑
=

=
n

i

iT PP

1

 (45) 

 ?4@Pi ��	$�� >! ��y
�� 
, i d�g ��P ^�P n�'y
�� >! .  

�8 ��_� I��#�� �Y52! ^�P �5��$1! It$(8 �4@�� >! I<r�
�� ~��@8 J��g �s�# >! $eg8 #8 T1�y# ^�P T,
1�� Q�{
W�1�� 
b2�� ^�P 
g$�� 
��� &��1@� 
1a� j8 ���R� CH, : >am# IQ�5��$1! ��+�Y�� ���1! k�%�:  

 ∑
=

=
n

i

iT PKP

1

 (46) 

 ?4@K��5!9� &
5, 7��$1� W��U� �Bl1�� <�-� <���	 <!�P 
, .  

x
�
�� �H, &
@ ��eg ��6��� �=
	 G . ���1� NK�
! : ��5!9� &
5, T�  u� 7��$1�� �6���� �,��@� J�1,� �K#
/$) O�$r &
r ^�P NY	 V ��K�$! �� t$(8 �6��� ���P ��24� I�y�
��� �g$R �]���� C�E'� Q���$Y	 ��D�
! IL$\

&�� ��=
�� ��_Y�� ��+�Y�� >! ����6 ^�P <y�R� T,
1��VQ���$Y	 ��D�
! #8 L
2= <_0 : �y�
��� �]���� C�E'� 
��5!�� &
5, ^_K8.  
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��2! <g &
r ¡��� �'y
�� >! ������ 7��$1�� ���Bl	 J��g I�y�
��� �g$@ C�EG ��D�
�� �'y
�� ���@ �� ���2���0 l 
 >! $eg8km 40��4�� ���Bl	 I . <���1�� <!�P j�g#K >! ng8 ���R� CH, : 0,9� ieb1�� x�5Y�G  i	�! $5�%0,03 I

 i�,�E v >! >am#) <a-�� $%��(5 . x�5Y�G� &��1@� j
a�# I��G� $eg8 ���Bl1�� ��_	 I$_K8 ��+�K ���@ : i�8 �\
 <=8 >! W��U�10  &
5� �'y#20# 10 #km 5 
�2� I��2! <a� %80# %65# %40 ^�P I���	�G� k�P NK
	 >! 

 W�
1��) >! <���	 <!�
P0,8# 0,65# (0,4.  v ��4�Y�� �#9� ��+�Y�� : ng8 j
a� ��5!9� &
5, ���	�� �Bl	 j8 #���#
 ���g &A�{1����+	������� W��U� &
5�� .  
 <a-�� T��#6��y���� �g$R �]���� C�EG� N! �!��1! C�E� : ��-1�G� ���@ : <���1�� <!�
P  . <!�
P ��|2	#

��R� CH, : I<�
b1�� ��4�Y�� �#9� ��+�Y�� : x$68 <a-� I�) i4�P 
, �� ��_K ��0��! ^�P t
K8 ���	�� ^�P &�	 ���

�� ��-1�G� ���@ :�y�
��� �g$R �D�(��40 ¢0�X# I Q�4��� �1��B F4K ^�P ��� ) ^�P ���8 ���	�� ^�P &�� �! �H,#

���
r ��0��!.(  
3.5.4.2 "��
� >�.# ��3�:  

 �� Q�$%��4Y09� �42��� : ��g �4o	 ~#�@ �4��a!��
��� r �K ����� "'1(�� ��a�-�� j£0 $1!
�4a�� >P <Y	 �0��! ^�P <
$eg8 #8 "'1(� ����! : $eg8 #8 T140��$	 T	+�K F{	 . ��a�) : x
21�� T�X jl-� ��!
��! $0
	 k�P >! F\$���#

�� ����4��� ��� �=
	 ��!�a�� ����� x
2	 C�E�� T���Y1�� >������ O��1� ��40 Q�y
_(# �a�-�� CH, $y�2P ���� �Y��1
Q�4Y08 ��P��1��# ��D�
1�� i�) ������# �a�-�� ��YP.  

 <a-��5  
 �������� 	
��
 �
� ����
���
 �����
 �� ����� ��� ���
 ���! "��#� $%��� &�'(��
 &���l�  

 )*'+ ,��- 	�.�/0%0,031� ���� &  

 

 �
�
��

��
�� 

�
	


�
K

������� ��	 
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1.3.5.4.2   ���"�%��� ��;�
�  

 �4y
1�� k�Y	ITU-R P.1410 t�! ��8 : �4���Y1�� ������ : "'1(G� <���	 <!�P >P ��!
��!  ��=
���
��$1�4�4�� .! �Y52!# �1��B �5Y� T� ��Y4�51�� q�$\9 ��P8 �K �4y
1�� CH, j8 >! F\$���# ���4��	 d5�	 �¤£0 �

 "'1(�� �a�-� $y�2��� CH, <e! i1�(�8 �H�� T�b1�� jl-� �!�P� �4�1�)�a��-1! #8 ( �¥$� #8 �5Y� �� �5Y� >!
T15Y� ��.  

 �5Y� >! �4���Y1�� �'y
�� Q�4�¦ q$�1	#�1�� 
��� ���1� 
�( &��P8 �� �5Y� �a�� N�D
1��# hY5�� d]�
-��� �o  �
��$5�� &
5, &� .T���1��� T� �'y
�� T� ���)U� �� <(��1�� ���� : ��5�� w�H� ��41� <_` �K# ��P�5K : 

w�H� <(��1�� $Bl1� G ��24� $5�� 
��� �,��! : ���)U� 
�( ~#�@ �2P ���1� ��#�D.  

1�y# : $5�� >P F=�2�� d����1�� d�g�$1�� 
��� N�D
	 $��Y	 >am# �K'��� &���16�� ��$1�� h�2� T1�!�P T1���Y1! T
 �4��1��) �%@'�� N=��1(:  

 [ ] dB 004,0  65,2 )( 34,0  )()( 4,025,223,0
2112

−




 +−= fdpApApA ∆θ (47)  

 ?4@p d,  T� �#�$1	 ��� JK
�� >! ��
S�� ���2��%0,01# %1# If# ��$1��  (Km) ∆d# I���� <�
r /$0(rad) θ 
 T� �#�$1	# T1�y# T� ��K�
�� ��#�+��°0# °180 .A1(p)# A2(p)�� $5�� >P F=�2�� 
��� �1�4K ��  : ��D#�E F1� j�1�

U� �'y
�� A�2B8 ����$0% p �$Y��� : ����
�� �Y�$5�� x��	�� j���X# JK
�� >! 1.4.2.  

 ������1 �  ������� �	
��(47) 
�� ����� ������ ���
� �� 36�� �����
� �����!
�� �"#$�� %& '��() *� +� ,� �$-15( GHz 38 
 ,� .(��
� /�& 0$1(1( km 23.  

2.3.5.4.2?��%9@ 1�����
� �	A���
� ��;�
�     

 : ��b1�� �a���� : J�� ��45�! k�Y	�� t�GHz 40-20�2P iY4YX >am �H�� ��y
�� �����1P� : >�b1�� >P Q'4��  
���16�&��a�) : ��D�
1�� ������ G� ������ <���1� "'1( . x
21�� 
�g �!8) T,
1�� T� /$��� �8(dB) F1� �H�� 

T1�D�
1! T1�y# ^�P �@�# j¦ : CD#�E F1� �H�� T,
1��# ��@�# ��y# ^�P JK
�� >! �24�! ��
S! ���� A�2B8 : CD#�E (
W�1�� 
b2�� ^�P j
a40:  

V   >P ���� &
r ��D ���g �K�21�� �� <4mkm 12 T� T�! §��= <_0 <=8 >!# JK
�� >! �24�! ��
S! ���� A�2B8 
I>�����  

V  j
a����P  >! <_0 ���@ : ng8 km 8 ��4Y� <_��� j
a� �!�2P i4�P 
, �� km 4 ��P���� CH, ����D j8 N! I
 ��km 12IQ�40��� Q�2�X $0
	 G   

V  t��� <(�� Q�6
��! Q�Y��	 ��$1��� O��1� G GHz 40-20I�24�! �6�2, �� ���2���#   
V   T� �#�$1�dB 2,8 A�2B8 Q���$Y	 %0,1JK
�� >! # dB 4,0 : %0,001 >! ��P��! N! IJK
�� >! km 8 &
r# 

Q���$Y	 ����� ��4Y��� ����� . T� F4Y�� �#�$1	#1,8# dB 2,0 >! ��P��! <=8 >! km 4.  
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 <a-��6 

�� ����� �	
�� �
����� ���� ���� �� �
� ��������� ���
�� �� �!�!" #!� �$%� &'km 4,6(�'
�)*   
���
�� �� �!�+ �,� -+�.��� ��/�01 ��

" 2���  

) $��&1975 4 5��& 1979(  

 

 �
�
��

��
�� 

�
	


�
K

��������	�
  

4.5.4.2      ��20.) ��"�3B ��;�)  

1.4.5.4.2   CD�2�� E���) ��"�3)  

 ������� O��1� ��40 $eg8 #8 TP$��� ��s) x#$��� x
�cN ( ���# ��_�2! ���g�P �
1�! ��2! <a� <��1�� ���#
 ��4�K ��=�� /���� ��D�
1! ��P#$0 j
a	) �%@'�� $%��1( &���16�� ���� &
r ^�P $5�� >P F=�2�� T,
1�� 
�` I

W�1��g ���� &
r:  
  d = dleg1 + dleg2 + ... + dlegN     km (48) 

 �$Y��� �Y�$r :1.4.2 ������� : �0���� �K�2	 <!�P L��@ ��40 �¥ (33).  
 ������1 � ����7
�� 8)�$� ��7�9 0$: �&��# ��;���� <�=�� '����: %>? @ . ������� %� �
	� '��)�$& A�7
�� ���& %>� B �C�((47)  D&��

 E��	�r ������� F (42) G�
���( HI �J �K#�0��7�� L�>�� ,M$
�� ���!� <$� D-N  . %& D9 0�;�
�� ��>O�� PQM DR %�S
�� ��(
 �������(47)T�$
�� U��: V W�: 
�� D9 E��	
�� D&�� U��: F A�7� �XY( 0(� Z��[ \] ^��1 %� ���	�� /��� 0$1( .  

 O4�5	# ��_�2! ����! ��P$�1�� ���1P� : >�a	 ����� �Y�$r �¨# �$Y��� ��4�P �2	 ��� �Y�$5��5.4.2.  
2.4.5.4.2   ��D�2�) ������F ��"�3)  

 ��4]�_@� 
�X L�5Y16G� h�� $eg8 #8 ���! �P$�	 <��1�� �!�2P : ����
�� �Y�$5�� &���16�� T,
1��1.4.5.4.2 ��40 
hg���� �
1�¥ O��1�.  

$r O�5	 ���1� ����5Y16� ����� ��P$�	 J���16� �s�# �$Y��� �Y�1.4.2 ������� N! (47) dY09� T��5Y16G� >! <a� 
 JK
�� >! T11K��� T1��2�� ^�P &
_R� <=8 >! ��
����#pH#  pV L
�5�� T,
1�� D#�E ��A�2B8 � T1��� ) $%��

 �%@'��1 (W�
1�� ^�P ��
����# dY09� T��5Y16G� : . ������� <��1�	#(47)
r L��R  d�a�� ���� &dH CH� 
 d�a�� ���� &
r L��R w�Hg# dY09� L�5Y16G� <��1�	 ��� ��P$�1��dV L�5Y16G� <��1�	 ��� ��P$�1�� 

��
���� . JK
�� >! ��
S�� ���2�� 
�X vp ���� &
r ^�P ��M� T,
1�� D#�E �,A�2B8 � ��� ) �%@'�� N=��2:(  
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 %

VH

VVHH

dd

dpdp
p

+
+= (49)  

 ������1 �  W�!7�� F W���$�� �!��=�� _� �`1.4.2 %& '��;�� �a��$b %>? ��$�� %& �	��& ��$c& �d�� <�	e� P)(�f g 8Q�� ,M$
�� L=�� 
,�& ,M$� )(�f �M<�	e� g Z�� ��$�� %& ��$c�� �d�	�� 
�� 0$-R� D��.  

 ������2 � ��� ����7� h��i� 0�: F j�
� �a�dk �!��1 l��m
�� %�S
�� /d9 D>O�( �Xn� o�d�� �� �d�	��� �ap�� 8)�$
�� %� /
 �q:"�� F �:�
!��1 W�!7�� %& 1.4.5.4.2h��i@� ,�b D�� %&  .W�: 
�� U�=!
�� D>� ,M$
�� U��: LKd	� ���R� PQM F(.  

6.4.2   >�
%G'�� H�.���5� 6-�.���8��I�   
�_	 �2P $5�� 
��� T,
1�� D#�E &��1@� 
�` I�4�K� ��y# F4Prain F%12�� 
��� >! ����R� z!�� �#���� (dB) F 

) �$Y��� N=��5.3.2 ( ��1��� : l5�� &���(BER)�4��1�� �o4_�� >! ©��� :  
 100/xrain pP = (50) 

 ?4@(%) p( D#��1� ��� JK
�� >! ��
S�� ���2�� d,  $5�� 
��� T,
1�� ��'(dB) F <y
1�� >am# �56
1�� �2��� : 
 ������� <ª ��4��(38) �$Y��� : ����
�� 1.4.2.  

3  ������ ����	 
���
� /�� ������ ����	  

�� ���#D : Q��= ���g ���o	 I���� &
r ^�P :�_�� 
p� : ���a�G� <4�� : �s�) ��=��	 
��	 j8 >am &
y

���Y1��� ��=
��# ��6$�� ��=
��� /'5�G�# . �
1��� : QG#8 ~�X# ��$1�� >P ��Y1�! i�) ����$1�� CH, j
a	#

�0�p� �4�(���� Or�2�� : i4�P 
, �� ��r$�� «r�
-�� Or�2! : ng8 ���#+�� t�! j
a�# ��4]�
��� d68$�� . �,�-	 �#
�� �G�@ A�2B8 �4�G� ���o	<r�
.  

¬&�P 
�g# �Y4� k+ª ��4]�
, ��40 <��1�	 ���
r ����! ^�P Q���g �Bl1�� j
a� j8 >am# . �!+R� q$P j�g �s£0
�� j8 >am Q�Y4�����o�� �=
�� C�E� ^Y/ WG� 
�( ~�` da� �
M� >P d�a� �¥ Q��4�� ��y�
��) �$Y��� N=��(3.2 . �0���#

�y�$	 ~�@ �s� Iw�s ��
�� ���#D ��40 j
a	 ��$10 A�2B8 ��4]�
�� Q��= �s�) &
y �Y0 Q�4��e! �y�$1�� j
a� G .v >!# 
 �=$@ ����! ^�P ��4]�
�� �y�$1	 �!�2P)e!�4�@�6 �Y52! : ���
r ����! <( ��P �y�$1�� >! �gl1�� >�b1�� 

k��8 ��{� >! �$10 : ��$!.  

4  ����� ��������� ������� ���!�"#  

 Nr�Y1�� L�5Y16G�� +44�1�� q$�1� j8 >am(XPD) ��5�� �� <K8 �=���# ��2Y�� h�� : <(��	 ��1�U ®"�g ��2Y�� : <(��	 
��#�}� . +44�1�� q��¯� ���1PG� : H(�� j8 
3#XPDw�Hg <r�
�� "#$� :# :�_�� 
p� "#$� : ~�` �H�� .  

1.4   >�
%G'�� H�.��� 6-�.��5������ �J� ��;+K#   

55|�# ����1! ����! nP ��-1�'� �$1-�� �Bl1�� ��`��4]�
��� Nr�Y1�� L�5Y16G� �� +44�1�� q��¯� XPD ~�` �H�� 
JK
�� >! ��oy ��
S! 
�� A�2B8 .�
5� �
5( W�1�� A�$=U� x��	� T�1� ��y
�� A��8 : �����¯G� CH, �Bl	 L��R:  

���� �1 :L��@  

 









>

≤+
=

35for40

35for5

0

g

gg

XPD

XPDXPD
XPD (51)  
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 ?4@XPDg +44�1�� ��9� �R� 
, XPD°2_�� i2�{� �H��  �R� �8 &��Y16G�# &�6�U� ��4]�
, ����	 �5Y� �2P N
 +44�1�� ��9�XPD&��Y16G�# &�6�U� d]�
, >! <a� ����1�� �5Y2� .  

 �����2 :����1! ����! nP ��-2�� ����! F44Y	  

 

( ) 75,0
02,0e1 P−−=η (52) 

 ?4@P0 = pw /100 ����1! ����! ~#�@ <!�P 
, Y� <��� JK
�� >! ��
S�� ���2�pw  (%) D#��1� dB 0 = A $�-�� : 
������ : i���@ � ��g 76
1�� 8
69�T1 (7) #8 (8)���R� 
�@ .  

 �����3 :���X  

 Q
k

P

xp= −








10

0

log
η

 (53) 

?4@:  
  �@�# &�6�� d]�
, 

  





























λ
×−−= −

tw104exp3,01

on7,0
2

6 txp sk  &�6�� �4]�
,  (54)

  
 ���@ :&�6�� �#�y ��!��	 L�5Y16��  <em T��1� T4]�
, >!(m) st <em# d68$�� <y���� (m) λ��!�R� �=
�� &
r .  

 �����4 : ������ O1-	C�4��1�� �o4_�� >! :  
 C XPD Q= +0 (55) 

 �����5 :@� 
�` x�5Y�G� &��1Pxp�4��1�� �o4_�� >! :�_�� 
p� : Nr�Y1�� L�5Y16G� �� �]���� :  

 P Pxp

MXPD

= ×
−

0
1010 (56)  

 ?4@MXPD (dB)  +44�1�� z!�, 
,XPD &��� «0�a�� �� ��1��� : l5(BER)�4��1�� �o4_�� i45�	 �H�� d�=$�� :  

 









+−

−
=

��

���� 

 XPIC   

XPIC   

0

0

XPIF
I

C
C

I

C
C

MXPD (57)  

?4@ C0 

/I�� d,  ��1��� : l5( &��� <(��1�� �� ��!�R� �=
�� ��(BER) #8 ��g�M�� A�
6 ���44Y	 >am ���# d�=$! 
��4Y���.  

XPIF Nr�Y1�� L�5Y16G�� &+��� : /����� d5�� �H�� Nr�Y1�� L�5Y16G� T�b1� n1|�� : h4Y�� <!���� 
, XPI �2P 
{�$P A��
{�� �� ��!�R� �=
�� 
�� ®"�g ��Y� �)dB 35���P  ( ��1��� : l5( &��! �2P#(BER) ��%��� T�! 

 Nr�Y1�� L�5Y16G� <(��	 do�¥ �+�}� �\ #8 �+�}�(XPIC) . do���� �45�2�� ��4Y��#XPIC d, dB 20Q���$Y	 .  
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2.4   �	
��	
 ������ �������XPD ������ ���� �� ��	���  

1.2.4   ������� �	��	!"�XPD # �$	"������   

 q��¯� F4K �4ea�� $5�� ��`XPDJK
�� >! ��oy ��
S! 
�� A�2B8 ��,�-��  . ��6�4Y�� #8 ����21�� $�41	 � �s�#
��$Y	 $��Y	 ^�P &
_R� >am ������ ��� ^�P ��_���� F4K N�D
1� dXPD d�g�$1�� N�D
1�� &'( >! �#$-�� �\ 

 $5�� 
��� T,
1�� L�5Y16G� �b1!CPA)  �$Y��� N=��(4.2�4��1�� �G��1@G� �#��	 �K'P �56�
� :  

 dBlog)( CPAfVUXPD −= (58)  

 j'!���� Q�!
�P O��1�#U# V(f) I��$1�� Iw�s : �¥ I�4��$�1�� �������# ���o1�� >! ���� f . : ����! �� ���2��� I>am#
�oy x��	�� ���#D N! $_��� 7(�4��1�� ¡4_�� �56�
� Q�4��$Y	 Q����@ j'!���� j�H, 
�` j8 d68� #8 dY08 L�5Y16�# �:  

 U = U0 + 30 log  f (59) 

 

GHz3520for6,22)(

GHz208for8,12)( 19,0

≤<=

≤≤=

ffV

fffV
 (60) 

 >! ng8 T,
	 F4Y� ���@ �K#dB 15 �56
1! ��4K U0 >! dB 15Q���$Y	  >! ��8 �@ N! dB 9��6�4Y�� <a� .  

 F4K �o	 <_�#U# V(f) F4K T� /$��� i40 j
a� 
� �� CPA �� ��_� �!�2P ��G� �s �\ dY09�# d68$�� T��5Y16'� 
 $��Y	XPD . ��4K k��|16�� <��1��� �_2�#CPA ������� O�5� �!�2P �$]���� L�5Y16'� (55).  

 ��4]�_@� O4�5	 >am#XPDT�! ��$	 �2P ��4�� <y
1�� � ��� <�
5�� t��� ^�P  i�) �K'��� �56�
� $(¦ ��$	 ^�P 
�4��1�� �4��$�1��:  

 GHz30,4for)/(log20 211212 ≤≤−= ffffXPDXPD (61) 

 ?4@XPD1# XPD2�4K �� +44�1�� �1 XPD�D#�E F1� G ���  >���$1�� �2P JK
�� >! ����� ��
S�� ���2�� A�2B8 �f1 #f2.  
 T� �K'��� $Bl1	#XPD# CPA� d]�
�� w�s : �¥ I<!�
P ����  dY�1�XPD���1PG� : H(�� � �H��  . ������� n1�	#(58) 

�4��
1�� ����$1�� T� ���g ��K#$0 ���@ : �K� <K8 . <��Y	 �!�2P �K� $eg8 j
a	#XPD1# XPD2 i��� L�5Y16G� 
)d68$�� #8 dY09�.(  

2.2.4   �	
��$	
 ����%� &�
' &�
( )�*+�,- .+	��������� ������   

����� 1 : ���� ^�P T,
1�� ���X(dB) A0,01 A�2B8 CD#�E � �H�� %0,01 ������� >! JK
�� >! (34).  

 �����2 : «0�a�� ���� ^�P T,
1�� ���X(dB) Ap:  

 

)(
10

/)/( 0 VXPIFICU
pA

+−= (62) 

 ^�P <_` ?4@U ������� >! (56)# V ������� >! (57) I(dB) C0 

/IR� �=
�� ���� d,  &����� ���M� <(��1�� �� ��!�
BER j#�� d�=$�� �� do�XPICI# (dB) XPIF &����� Nr�Y1�� L�5Y16G� T�X <!�P 
, BERd�=$�� .  

 &���16� k�P ���@ :D��p� XPIC 7�{� 0 = XPIF.  
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 �����3 :�4��1�� ������� ��X:  

���� ��� [ ]






≤=
���40

4012,0log26,23 01,0 mAA
m p (63)

#:  

 ( ) 2423,1617,12 mn −+−= (64)  

 F4K j
a	 j8 
3n >! t��� : �R�_�� 3− �� 0 .do�2� &���16� �2P �y�(# �G�R� ��� : i�8 �%@'! D��p� 
XPIC F4K ^�P &
_R� >am n >P <Y	 3− . F4K j8 �%@'! T�1� �G�R� CH, :p >P <Y	 ��� 3− �� ���	 "
6 
 &��!BER >P <Y� x�5Y�'� 5−

10 × 1.  

 �����4 :�4��1�� �o4_�� >! x�5Y�G� &��1@� ��`:  

 

)2(
10

−= n
XPRP (65) 

5  �������� 	
����
������ ������   

 ��=
�� dK�5� : $_��� 7( ^�P �'y# : C
-1�� W#9� 
���� >�a�UHF# SHF x��	G� ^�P ��$1�� ���1P� : 
��� ���	 "#$� : �$!+�� $(l	 ^�P#:�_�� 
p� : ��� .# 
��� >! ����R� z!�, : ����+�� ���	 �4�B��1�� ��%�9� :

��¯� �K ����$R� A��
{�� �Bl	 j8 �¥ A��9� T�X �� . &���16� j8 �\�� z!�
� �{�$��� ��%�9� : 
��� >! ����b�
�� 
, ��$1�� d]�Y1�G� 
��� j�g �s� Q���c j
a� >� �4�K$�� q��¯� 
��� �H ��
=A��9�.  

���� �� <6$�� >! ��)8 #8 ����! ��P N�1	 ���)U� j8 q�$10� ^�P ��-1�G� ��2K <4a-	 ��1�� &�
@9� F%�! : .
# d��9� ��a��G� >! �4	¦ �40��� ����! ��P #8 ��! >�{1	 �K# 
p� nP $)���� ���� >�{1	 d,#/ ���a�G� #8

�
p� .#s� Q��#��! j
a� ��a� x��	� i� Q��= $(l1! ��$a	# �$)��! ���)� <�Y1��� �� <y# �` �K D
!$�� T� <(��	 ~�
��!
���� �-g : l5( �� ���� . ��1� ±!�� �H�� ��)9� ���1�� �s
�2�� �H, <e! A��9�� ��21�� <]�6# <��1�	#

 ����� <e! ���o1��)��) &#8 T� ©!+�� /�����t$(9� ��)9� T�# <_� x ( ��( �s
� i�b_� �H�� x��	G� N�D
	#

�!# <a-�� <e! +4��1�� $y�2��� d!�!9� l5�� �4b_	 ��55�# �
5�� (FEC) I#²� .# ���� >am /$r ��P ��2,

 d5�� x��	G� C
-	 #8 k�%2�� N4K
	 &���16� ��68 ^�P �!�P ��S0 ~'B :(LAD)�_�� z!��� #8 
��� >! ����b�� : .
 T�# i24� 7�$�# n1|�� : k�|1�� x��-�� d]�2B ��g�� �s
� N4K
1�� ^�P ��1�� �H�� ±�2�� : <��1�� �! Q��eg

��y
�� �]�_( >P# ������ ���	 ~#�@ >P ��!
��! <e! t$(8 ��!
��! . C
-1�� ^�P ��1�� �H�� ±�2�� : �!8
LAD�P C
-1�� N�D
	 ��Y�  �! ��! ^�
�!# <a-�� �]�_( <��1�	# �
���$�� /�52�� : >���$	 �2P ¢@'� I�
5�� 

 ���Y! x��-�� x��	G �4]�_@� ����D
	 
��� >! ����b�� :�_�� z!��� ^�P ��1�� �H�� ±�2�� <��1�� w�Hg I²�
��1�� �H�� ±�2�� : <��1��� ��Y��� ��+4��1�� >P ��!
��! �� �0��U�� C
-1�� ^�P LAD .# ��� �Y�$5�� dy
	 �³

 �$Y���1.5  d,A��9� : l5��� ��21�� N4K
1�� ^�P ��1�	 ��� �Y�$5��.  

 �@ : <r�
�� 
��� T,
1�� >! �ea� Q��Bl	 <K8 ��a-! d�0 &�@ �8 ^�P# i���� >am <r�
�� �� �]���� C
-1�� j8 �Y1��
i	�s .#` C
-1�� j8 "#$��� >! ��%�8 : �,�Bl	 j8 �\ �4P$��� ��$1�4���# ��$1�4��� ��=
�� ��_1!� ��K�5� : ~�

ju� �@ ���# �\ <4o-1��.  
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1.5  ���	� 
� ����
�� ������ � �������� ������  

 &���� j
g &��1@� i�8 ^�P �2, x�5Y�G� &��1@� "$��BER�24�! ��1P >! ng8 .  

 �����1 :�! L��@>! Q�K'5�� JK
�� 76
1! ��:  

 ns
50

7,0

3,1








=τ d
m

 (66) 

 ?4@d ���� &
r 
, (km).  

 �����2 : ����1! ����! nP ��-2�� ����! 
�Xη �
5�� <e! 2 �$Y��� >! 1.4.  

 �����3 :�4��1�� �o4_�� >! d]�Y1�G� x�5Y�G� &��1@� 
�`:  

 















τ
τ×+

τ
τ×η= −−

||
10

||
1015,2

,

2
20/

,

2
20/

MNr

mB

NM

Mr

mB

Ms
NMM WWP (67) 

?4@:  
 Wx:   N4K
1�� q$P (GHz) 

 Bx:   N4K
1�� O�P (dB) 

τr,x:  $(l1�� d�=$�� (ns) N! N4K
1�� ^�P &
_b�� <��1��� x  ��� ��4Y�� d,# �
5�� N! 
�( ^�P �!� &�	
 ��9�(M) ��9� �\ �
r N! 
�( #8 (NM).  

 k�%2�� ����! G� $0
1� � �s�# h4Y��Kn1�G� x�5Y�G� &��1@� L��@ >am  ������� : d]�Y(67)�4��1�� �K'��� &���16�� :  

 

2

2

,, )(15,2
T

KKP
m

NMnMns

τ+η= (68) 

?4@:  
 T:   k�%2�� �$10(ns)  

Kn,x:   N! h4Y�� k�%2�� ����!x ��9� �
5�� �!� ^�P &�	 ��� (M) ��9� �\ �
5�� #8 (NM)
�|�� .   

 �4y
1�� k�Y	#ITU-R F.1093��y�
!# N4K
1�� �����! �����	 N4K
1�� ^�P &
_R� �4�4g .  

6  ������ ����� �� 
������ ������ �����! "#�$� ����%���  

 ��P�$! �'y
�� F4�_	 �2P do�2� Q�4��� Ad5��� ����$1�� d]�Y1�G� �\ 
��� ���Bl	) I�8”F%12�� 
���“ ( �� �]����
 �]���� x$69� ����$1�� d]�Y1�G� 
���# I�!+R� ���f ����1! ����! nP ��-1�G� �� �$0
1�� ��42Y1�� >! ��P ��2,#

JK
�� h�� : ���Bl1�� CH, N4� �4�|1� .Nr�Y1�� L�5Y16G� +44f q��¯� Q�{�8 ��42Y1�� CH, h�� ��� �! Q����\# .
�� T1S0 : ���42_	 >am# : &�6�U� #8 &��Y16G� : Q�P
2	 
�51	 G ��� ��42Y1��x
21�� 
�51	 ��� ��42Y1��#.  

 x
2	 '� ��42Y1��# ��4�4	�$16G� : QG#8 $%2� ����_1K� L��69 j�a!U� ��K x
21�� 
2E >�b1�� i�8 �¥#����
�� : 
 �$Y���1.6 .G�R� : �@ j�a!U� �2P �����16� do�2�# x
21�� ��%�l� Q�{�8 �K'P �� ��4Y21��# ��4�4	�$16G� CH,# ��� �

�o��� ��#$� <ef G . �$Y��� : ��16��� �$10 x
21�� ��42Y	 �!82.6.  
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1.6  ���� �� ��������  

 T� A�
6 �'y
�� w�s# x
2	 '� ����1�� ������ >P F=�2�� 
��� ���Bl	 �4�� "�³ ��42Y	 ��P &���16� >am
��]�2� ^�P <��46 ��$�8 T� k8 ��]�K ��$�8 .! >�b1��# ��42Y1�� CH, A��416� ��P�$t�@U$eg8 #8 �4��1�� ��4�4	�$16G� :  

 ����	�
��
�A:   �4�|1�� >! ��
= ��4�¦ >P F=�2�� ���-�� F%2�� 
��� ~#�@) d]�
�� j�$1K� O0# k+R� ���f <e!
 I��
p� ����1�� ������#) �$Y��� N=��3.2(¶  

 ����	�
��
�B:  �� �4�|1 >!¶q�9� �56 ^�P ��6�a��� ~#�@  

 ����	�
��
�C:  ��
p� ��=
��# q�9� �56 ^�P ��6�a��G� T� ©!+�� ���|1�� �4��.  

1.1.6  
��� !�" #$�%&  

 ���� <4! ���+� ?4ª �4��9� h���{1�� >! i� ���1�� 
� ^�P �'y
�� NK�
! ���X 
3)Q���4@8 w�s ^���#�42Y	  
"high-low" (�1�� w�s j� s�4 �4E�$16G� "��,9 
A �4�4	�$16G� "��,8 >! A+p# C'P8 ��
gH�� BQ�{�8  . do�2�#

 q�9� �56 ^�P ��6�a��G� ���
6 �4�� <=8 >! h���{1�� 
�@ �Y�$5� �Y�$5�� CH, /�0��) �4�4	�$16G�B ¶
 �$Y��� N=��2.1.6 (��_�� �1Y4B# T1Y�$5�� j� s�.  

�4�� >am# �����1PG� A��416G w�s# ��
=
! ��$�9� ��40 j
a	 ��� ���R� : ���� ���¤ t�@� �2P d]�
�� x��	�� 
U� �P�
Y� �4Y1�� �5�$) �,$gs O�6 ���0 �$Y��� : ����
�� ���2.2.2.  

2.1.6  '(�� )�* +,- ��*�./��� ��
01� 2�34  

@ >! �4�|1�� >am ?4@ �'y
�� 
4g$	 
3 �5��� ^�P ��6�a��� ~#� ����) �$e12!# ��#¦$!) <K9� ^�P #8
$oy8 �$e12! ��6�a��� ����-�� ��#¦$�� ��6�a��G� <�= .(
��� ~#�@ >! <4�Y1�� W�1���#���� >P F=�2��  ����1�� ��

 ��,
-1��# q�9� �56 ^�P) �4�4	�$16G�B .(Q����\ 7�	$	 q$o�� �H� ����1! ��42Y	 ��2,#$(u� ������ ��{��  . �H�#
t$(9� ��42Y1�� ��P�$! j#� �,�@8 O4�5	 do�2� G .�4��1�� ��$Y��� : ��42Y1�� CH, �6��� �$16#.  

1.2.1.6  5�./��� ���� 678 
01�  

�
�� 
�@ <=8 >! ���� &
r ^�P ��
=
��  ���� #8 &��p� #8 &'1�� >! ����16G� : ��42Y1�� t�@� >�a	 >P ��4]
 �46�a���# ��#¦$! $eg9� ��b5���) �
56# ���)9� >! ������� ��
1��� &'1�� F�K# &
����# �4]��� ��b5��� <e!

 <a-�� $%�� ¶ ����7 .( ��
6 ��( ����D <=8 >! ��	��2��� �
�a! &��p�# &'1�� j
a	 j8 "#$%�� <{08 : >�b1��
��b56 ^�P �$�2�� &�}� . >am# ���� ���0� �4�� �2P ng8 ��
��� �46�a��G� ��b5��� 
�@ N�5���) N=��

 �$Y���3.1.6.(  
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0530-07

d

h

FIGURE 7

Example of shielding of antenna from specular reflection

 

 �����7 

����� ���	
� �
 ���� ����� ����� ���� 

  
 <!���� ������� F4Y�� >! t�! : w�s# 
6�2�� 
�R� O]�P ��3� <=8 >! �4P��-�� k+R� ��� ��6��� A�$=� >�b1��k 

 T� NY	(%99,9) ke) �4K #8t$(8 ��8 �@ � ( T�#"���¤'��) (" �$Y��� N=��2.2.2 .( ��a��� j
a� j8 �� C��1�G� do�2�#
 <!���� �4����� �56
1�� #8 ���	$�� F4Y�� Q�4]+= #8 <!�a��� Q��
�� �5���k .��
�� >!#� ��¸ 
�R� �Bl	 �]�
0 ��� j8 

8 ��@�# ��a�2! �=
! J�K# �s� 
�R� O]�P &���16�� �Bl	 JX $eg8 #"<]�, ���a�� "�
gH�� O]�
��� �2P j� s� �
>P F=�2�� 
��� &��1@�ng8 "#$%�� CH, : j
a� C
-1��# q�9� �56 ^�P ����1�� ������  . ^�P �$R� do�2� ��g

P�$! N! QG
�Y! �$)���� �=
�� ��$��� j
a� j8F4Y�� : ���� ���0� ����! ���4�K �������  <!���� x��	�G� �k &���	 ���# 
���4��� j#� ���a�G� �G�@.  

2.2.1.65�./��� ���� 9�����   ��*�./�� !�: )�* ;<   

 : �E�2�� ��6�a��G� j
a	 ?4ª T0$5�� �2P #8 ���� :$r �@8 �2P d]�
�� x��	�� ��
�	 ^�P �
52	 t$(8 �Y�$r �¨
 <K8 �P#�+! q�8 : #8 &��p��)� . /
0 ��a��G� i40 ~�` 
� ^�P A��� /
0 ������ ���@ : ���� <4! ��
�	 >am#

��	��2�� #8 ���)9�� �
�a! Q���8 j
a	 j8 <{��# A��� /
0 h4�# n�� . �¹�|�� d]�
�� >! ��a��G� �5Y� L$Y	#
x
0$�� d]�
�� >P ���	#.  

�� ��a��G� Or�2! NK
! ���X �Y�$r �$	# �$Y��� : �2a�3.2.1.6)  >! ��
5��1 �� 3 .( ��_Y�� ������� O��1� ��40#
 F1� ?4ª T4]�
�� x��	�� #8 d]�
�� x��	�� ��41(� �4��a!� ���X <=8 >! ���!�a� �42Y1�� &���16� >�b1�� ®"�g ��Y�

 
2E��{�� <(��1��q�9� �5�� ��#¦$�� ��6�a��G� >P F=�2�� .  
º��	# �$Y��� 4.2.1.6q�9� �5�� �#¦$�� ��a��G� ��) ��4K #8 L��@ O]�$r .  
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3.2.1.6=>��?� ��-�3�(� !@"�� (���A��     

 T4]�
�� x��	�� #8 �@�# d]�
, x��	�� ��
�	 ��_Y�� ������ ���@ : Q���4@8 >am)&�6�U�# &��Y16G� ( 
��	 G ?4ª
��	 �5��� ^�P ��a�2! �=
! �8 N! <Y12� Q���� Q'(�=
��d�4� �$)���� A <!���� ������� F4Y�� k��g <a-�  . >am ��g

 ��g I�46�a��G� ��4�K q�9� �56 ^�P ��6�a��� ~��@� <=8 >! d]�
�� ��P��	�� ��
�	�$� �$Y��� : 2.2.1.6 . ��40#
$� t�! ���X# T142Y1�� O4�5	 �41	 ��� �
5( �
5�� �Y�$r d��x
21�� ��#:  

 �����1:��$Y1�� x��	�G� 
�` � x
2	 '� ��%�9�� �Y��1�� ���0U� ��P�K &���16�� &��Y16G�# &�6�U� d4]�
� d
) �$Y���1.2.2.2.(  

 �����2 : ^�P ��K�
��# �#¦$! ��a��� ~#�@ ��40 <�1M� Or�2�� /
0 &��Y16G�# &�6�U� d4]�
� x��	�� ^�P8 
�`
�� 7(C��
» #8 �� . 
�6 j
a� �K#�
=# ����-�� ��#¦$�� ��6�a��G�Y�� #8 &
���� #8 �4]��� �
5��� <e! Or�2! � F

 ���� �
56 #8 �$�-�� �\ &'1�� �b5��� . h�� $m �K# Q�4Y08 ��#${��� Or�2�� CH, : ��a��G� �56 j
a� G �K#
 ��P ���1� Or�2¥ ����)%@'�� N=�� �1 .( Or�2¥ O��1� ��40 
3 �5�$�� �� Q���216� Or�2�� ��� ���X >a!8 �s�#

�$)��! C��
» #8 ���� &
r ^�P h���{1�� �Y4K� �6��� t$(8.  

 �4��1�� �K'��� d5�	#) <a-�� $%��8 (TP��	�G� h1 

#h2 <4! ��#�+� ��a��� �Y52! /
0 T4]�
� ν)  �%@'�� N=��1:(  

 h1 = h1G + y1 − y0 + x0 × 103 × tan ν                m (69) 

 h2 = h2G + y2 – y0 – (d − x0) × 103 × tan ν                m (70)  

?4@:  
y1I y2:   T�K
�� : $b��� �56 >P q�9� x��	��1# 2 W�
1�� ^�P (m)  

h1G,I h2G:   T�K
�� : q�9� �56 >P T4]�
�� x��	��1# 2� ^�P  W�
1�(m)  
y0:   $b��� �56 >P ��a��G� �Y52� ��+g$�� �5Y2�� x��	��(m)  
x0:   ��+g$�� �5Y2�� T� �0���� NK
��# ��a��G� �Y52�(km) 1. 

�+p�# ��� >P ���2�� ���o1�� ��P�$! >�b1�� $b��� /
0 ��a��G� �Y52! �
=# &�@ :#.  
  



28  ������� ITU-R P.530-11  

0530-08

0 5 10 15 20 25 30 35 40
0

100

200

300

400

500

600

700

800

900

1 000

h
1

h
2

FIGURE 8

Path with reflective terrain
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��� ��3 :j�10���� 
�X d1 

#d2  T�K
��# >a� hg�P �56 <g T�1# 2)  �%@'�� N=��2 ( F4Y�� t�! : w�s#
 <!���� �������k T� ��
_M� (%99,9) ke ���¤'��# ) �$Y��� N=��2.2.2 ��4K ��41(� j�a!U��0 d����� �4�_�� ^�P �!8 ¶

 <e! ���gk = 1,0 × 910:( 

 d1 = d (1 + b) / 2          km (71)  
 d2 = d (1 – b) / 2          km (72)  

?4@:  

 

( ) 



























+
+π+=

3
1

3

2

3
cosrca

3

1

3
cos

3

1
2

m

mc

m

m
b (73) 

 

3

21

2

10
)(4

×
+

=
hha

d
m

e

 (74) 

 c = (h1 – h2) / (h1 + h2) (75)  
N! ae = ka  �� ���2��� q��� «0�a�� $5Y�� �_� 
,#<!�P kT�! ) a = 6 375 km  q��� «0�a�� $5Y�� �_�(¶ 

 ������� :#(70) >P n�� d >P# ��$1!
�4a��� h1 #h2 ��1!9��.  
 ���0U� �P�
K ��P�$! N! ���4�g x��	�� #8 T4]�
�� �@8 x��	�� ��
�1� �#¦$�� ��a��G� Or�2! 
2E >a!8 �s�) �
5��1 (

�(��� <���1�� $��Y	 F1� v <A���� �
5��� ���= >! 2.  
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 �����4: ���2��� �!8  T1=
�� T� ���� &
r /$0 
�` ���2E >am G ��� ��#¦$�� ��g���� �
5��� ��) #8
"TP��-�� (" �$)���� �\# �$)����)�=
�� &�
rl� ��2P Q�n�! ( ������� F4Y�� t�! h�� :�� k:  

 

3
2
2

2

2
1

1 10
74,1274,123,0

2
τ

−×











−












−=

k

d
h

k

d
h

d

f
 (76) 

         �=
�� &�
r8 ��P ��40 j
a� �$! <g :#τ  y Q���P      �o1	 �!�2P Q��=
! Q�b4bk) 1  I2 ²� I (      : $�f ���Y1��� ���)U� j£0
 ��9� �R�I    ����	 
=
1� �H�� $!9� i  j�a!U� ��K  .       &�
r�� �b4b_�� F4Y�� ��P ���D� ���g#τmax – τmin   �o1	 �!�2P

kx
21�� ��� d{1Y� �� A��9� �4P
� �� �A�6U� &��1@� ���D� ���g �,��! : .  
 j
a� �!�2Pτmax – τmin > 1  �o	 �2Pk��� : t�g�! i�) 
� ^�P x
21�� 
2E >am IL
�5��  . O��1� ��40 >a�

 ��
r D#��1� ����¥km 7,5 L��@ �Y�$r O4�5	 d, ���#$� �\ x
21��� ����R� j8 >! �gl1�� �Y�$r <{08 j£0 Q���$Y	 
 ����1�� ������ ^�P 
��� ~#�@)$Y��� �3.2 ( �4�M� �\ �4�K$�� ��%�9� : ��P�5Y�G�� ��21�� �Y�$r#) �$Y���1.5 .( 
3#

i40 j
a� 
� ^�P ���4�g x��	�� #8 T4]�
�� �@8 x��	�� ��
�	 �G�R� N4� : τ ≈ 0,5 ��4Y�� �� ���2��� k �56
1��.  
 �!�2P j
a�τmax – τmin ≤ 1 ��� >P F=�2�� 
��� O�P ��_�� x
21�� ��#$� &��1@�# q�9� �56 ^�P ����1�� ��

 ���)U� ��a��� ��-� T5�	$!) T	$Y��� N=��2.2.1.6# 3.2.1.6 ( +44f ^�P �
1` ��'g #8 T4]�
�� �@8 j�g �s� �! �0$�!#
 q�9� �56 ��6�a��� �� ���2��� ®"�g) �$Y��� N=��5.2.1.6 .(#����� &�@ : i�8 $gH1�� do�2���
5�� ��®"�g <a-�  

 <!�
P ��s �s�-�� ��Y�5�� j£0���	 j8# �!+R� ���f >P Q���� �$)���� �=
��� Q�
�( 
��	 �K Q��= ������� ���a�U� 
q�9� C�E�� $-12	 �$)���� �=
�� �K�r j� s� JK
�� h�� : D+�1	 �K �5��� ^�P ��a�2�� ��=
�� #8 �=
�� . <{08#

b1� �Y�$r O4�5	 d, x
21��� ����R� ��� ��#$� ����Y�$r ����1�� ������ ^�P 
��� ~#�@ L��@ ) �$Y���3.2 (
 �4�M� �\ �4�K$�� ��%�9� : ��P�5Y�G�� ��21�� �Y�$r w�Hg#) �$Y���1.5.(  

 ������1 �   �� ������	�
� ��
�� ���� ��� ��������� �� �
�� �� �
�
� ��!
"�  #� $%�&' !(�� )�*� +,
� -&.��� ��"� �/	 �
�.� 
 0�1
��!
"� 2&� �&��1"� . -4'5�� 5�6"� ��� ��7�8� 9��1"� �4�1&� !(: ���.�� ;�4
�� ;5�1�7) =�1�� �>�m 10 ±������ ���?
�� ���1"� �� 
��@���.,1�� A5B C  .(�� !
4&� 56
��� EF	 G�5H� G�I�'�� J
K ��L7)�*� ������ 0�1M #� =N�1.  

 ���	 �?�� ��� ���O� P.� C7��� !
"� Q?B 2&� RH�5��� SF
� =T� �
F�
� U=N%� !V W.�,1� 7�X� 7� Y�6�M�� ��&' !
"� Z	7 
 951��� C 9[��?�� ��4�&.���1.4.2.1.6F
"� �\] 2&� ^�_ `��.M�� �� )�5�	�7 S��������� �T��[ �H� ��  `��.M�� �,1M a?	 

�,1
�� b\] C ��	�
"�7 . 951��� C7 951��� b\] C c��' ��� ��?,d� EF	 ���O� b\] C -(X
�71.4.2.1.6$�.� .  

 ������2 �   ���O� P.� C �
F�
�e[� �?�� �� ���.	 �4�' f� k �� �'� (% 99,9) ke.  

4.2.1.6B"�/��� C����*�� (���A�    

� >�b1������� O��1� ��40 dY09� L�5Y16G� >! QG�� �!��1�� L�5Y16G� ��41( >! ^�P8 ����$1� A��� /
0 ��GHz 3 
Q���$Y	 .NK
1�# j8 OYX >P ��+	 ��� ���1�� ���#D º0,7 >! �5��� ��a��� : Q����¯� Q���$Y	 2 �� dB 17 �� ���� 

dY09� L�5Y16G� iYY` �H�� �4�|1��.  
m# #8 L��R� O�$r >P �#¦$�� ��a��G� : <(���� q�9� �5�� &����� ��a��G� <!��� /�8 $��Y	 ^�P &
_R� >a

�Y@'�� ��$Y��� : T�! 
, ��g ��4Y��.  

1.4.2.1.6'(�� )�* +,- 9�/3�� 5�./��� !"�/" C��8     

�� �Y�$r x��	�� q�9� �56 ^�P &����� ��a��G� <!��! L��@ >am �4��1�� �
5( �
5) �%@'�� N=��1.(  
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 �����1 : q�9� �5�� ��g$�� �4@����� 
�Xηq�9� �56 ^�P ��a��G� Or�2! L$K :  
 η = εr − j18σ/f (77) 

 ?4@εr # �4��2�� �4@����� 
,σ U� �4��_�(S/m) .F4Y�� ��Y	# εr# σ  �4y
1�� : ����
�� ��!
���� �� Q���216�ITU-R P.527.  
 �����2 : ���1�� ��#�D 
�Xφ  ������� F4Y�� t���� <!��k±	�2��  �
5�� >! 3 �$Y��� : ����
�� �Y�$5�� >! 3.2.1.6:  

 

[ ])( 221
11 bm

d

hh +−+=ϕ (78) 

 �����3 : �5��� ��a��� <!��! 
�`ρ F4K t�! h�2� k:  

 

C

C

+ϕ
−ϕ=ρ

sin

sin
 (79) 

?4@:  
  ϕ−η= 2

cosC      �dY09� L�5Y16' (80)  

 

2

2
cos

η
ϕ−η=C      ��!��1�� L�5Y16' (81) 

 �����4 : �P��1�� <!�P 
�`Dq�9� �5�� :  

 

)31(1

)1(1

2

2

bm

bm
D

−+
+−= (82) 

 �����5 : &
5�� 
�`L1�� U� F�����$0 �Y52� d��4�,2
r q�9� �56 ^�P �#9� <����� &:  

 km
3

10)(
1

3

104
1

1
22

21
2

21
1

−−−











 ×++×+=
d

hhf

d

hhf
dL (83) 

 q$��� w�Hg#W1d�$��� C�EG� 
�@ :  

 km
103

4

1
f

d
W

−×= (84) 

 n�� ?4@ >Ph1 #h2  >P# ��1!9��d��$1!
�4a���  . F�}� j8 q$1��#U� d��4�, �5Y� ^�P +g$� �#9� <2��$0 �Y52�
 ���# ��a��� �5�� �46�2�� ��a��G�) �%@'�� N=��2.(  

 �����6 : �{1� �!�2P}� >! Q��@�# Q�A+= j8�FU� ` �#9� <2��$0 �Y52� d��4�,� Q��#¦$! Q�6�a��� ~$��Y	 F1�&
5��  
∆x (km)A+p� �H�  . �#¦$�� ��a��G� <!�P w�s ��� ��Y�#) �%@'�� N=��2:(  

 

3
21

224
21

3

10)()(

dhh

xhhf
R
s

−×∆+= (85) 

 >P n�� ?4@h1 #h2 >P# ��1!9�� Q�{�8 �2, d��$1!
�4a���  . j8 q$1��#Rs = 1
4o1��� .  
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 �����7 :�� d�(���� �5��� j�g �s�U� F��� k�P <!�P ��Y� Ad-�� ��� k�%1�G� <4�K �#9� <2��$0 �Y52� d��4�,
 �5��� k�%1��RrW�1��g :  

 

222

2

)2/(2)2/(35,21

)2/(1

gg

g
R
r

π++

+
= (86) 

?4@:  

 

3

sin40 ϕσπ= hf
g (87)  

N! jl� F���� σh (m)�� "�$�G� 
,  A+p� : N=�$1�� ©b2! �� ���� �5��� x��	�G ���4� F�}� <(�� NK�
�� ���� >!
U� �#9� <2��$0 �Y52� d��4�,) �%@'�� N=��3 .( j8 q$1��#Rr = 1
4o1��� .  

 �����8 : <!���� ������� F4Y�� L
�5�� t���� &����� ���a�G� <!��! 
�`k:  
 rsRRDeff ρ=ρ (88)  

 �$Y��� : ����
�� �42Y1�� �� Q���216� w�s# �$)���� �=
�� �� ���� ��a�2�� ��=
�� #8 �=
�� ��
6 $��Y	 w�s ��� >am#
5.2.1.6.  
 ������1 �  ����� �� �	
 ��
� ����� ������ �� ������ � ����� ������ ����	�� ����� !"#$ %��&' (�) �*�+�)-��. �/�0 ��$$%

���'%�� ( ���-2 ��.�"'3� �
�. 4�5�) 67 8����� 9�:-	� 9�) 8����� �"����7 �;� (...=�"��> ?��@�� �>���� A�BC�� ������ �
�.� .
 �� ��� 3�"-0�� �
 �D�C�� E�. �F�*' G�� ������ (�) H%�-�� �"-� =�"
�%&' =I"�$ J�7 ���+� KLM � ?��+� �&�%N O�"�� �� =��.

P�Q�R �� K%�"' �� ��S7 9�) �F*' T� %0U ��� . �V%��� !N�W�� � �
N3 X3
 X�%-R� X3Y� ��Z (�) 3���	[� \7 �
�W��. ��@-���
*
]� �^"R _>I� G�� ��%-��� � �.*N%�� P$�).  

 ������2 � ��$���� A��' (81) ����	�� �&�W� H��D `*�� � ���W) a$
 bQ�-	 c�U%�� ����	�� ��&	 �) =��"�. c�U%�� . � �d�� �#�
 e*V*. fD�) �g� =��.
 h:-W� �g ijF \7 \�Y� �W��%R �&�W� h"�&' ���+� E�.) �
 X3Y� ��Z j"k G�� ���'%�� ����j�� �
�.

' �
�.l�"V3Y� f�3�d-�� �
�. �m+� �n (
 �F3$ (�) %0U ijF�� 9�:-	�� 9�) �� �# 9�:-	� 9�) ���) �"R ��o =�"QjF fD�) p�-��.
 P*�B�� =�&R� �����7KI)
 P3*DL�� .  

 �F*�� q��'� `
� ���� �*N (�) =���k \�Y� �W��%R �&�W� A�r' X3Y� ��Z �� ��D���� �&�W�� `
 \7 9I)[� �"
Z (�) P3�s[� 3�t
 3��&u (�)
 ����W��dB 2,6 �F*�� q��'� ��  P%s�
��) �)�
-�� ���) ���nl' P�)�%� `�$D q*V*� AQ�*v� j""k �
 �Z�3��� P%&��� � 

5.2.1.6 .( �w"&�� KLM x�
' �#�dB 6 �M��. � �. p*��� �M��. � y&R f"� \�Y� �W��%R �&�W� =���k A�r' ��D���� �&�W�� O	�D �57 
=�d�
 AV%��� .�� ��&	 T&' z �57 �.�&��.� {��m-� �� ����W�� �F*�� q��'� `|R ��D���� �&�W�� � �"Z�Wv� ����	}dB 3,4 . O�#� `7�

 �� �#
 `*�� ����W�� �F*w�� ~�W�� q��'�� `|R =���k \�Y� �W��%R �&�W� �3�0}dB 11,5.  

 ������3 �  �#��*N (�) TF�%-�� �@W� hZ3 ���� X3
 ��Z 9�:-	� 9�) ��> � �d� �W��%R �&�W� �*N =���k �$��' �R��� ���� 
\�Y� :��)��'3I� c3�"��� H�%��� ?��> � ����	�� ��&	 T#*� ���@-� ��ZlD �w�-�� hZ%�� �LM� σh (m)�@W�� �LM �*>  . =�%:	�

 T#*�� `
 \7Jp�Y���3�%�' �"�w��� `*�' �# �*^� \�Y� �W��%R �&�W�  .� O	�D �57� ����� `
 X%-�� i��� a*R \�Y� �W��%R �&�W
h:-W�.  

2.4.2.1.6�	
�� ��
 ������ ������� ����� ����     

 ������� ��-1�G� �#$) : >am) �$Y��� N=��8 �%@'�� w�Hg# ���2�� A�2B8 �%R <{0l� �Y��1�� 1 ( ��a��G� <!��! ��4K
�	�� 75� ���P£� hg���� �5��� ^�P &����� d]�
�� x�V x��	�� ��
�	 �2P ���Y1��� ���)U� ��
�� O��1�� d]�
�� 
�g 

 �y$� i�$P d�a� ����$	 t�! : &��Y16G� d]�
, #8 &�6�U� d]�
,A�
6 �@ ^�P �4����# �4���� 75|�� F4K . j�g �s�#
(dB) ∆E �4����# �4���� T1�
��� T� /$��� 
, ) <a-�� $%��9 (� <!��! ^5���4��1�� �������� &����� ��a��G:  
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eff (89) 

 ������1 �  G�� ��3�^W�� P%-��� i�Wn
 X3Y� ��Z `*�� �#� ��3�^W�� P%-��� i�Wn
 �"�) *M �� =�R��F %;D
 3�C-	I� ��$���� ��%C�� �^"R T#*-
 G��'P$��-�� ������. 3�C-	�� %M�*� �^"R T#*- .��.� ��@-�� p�-i�%F7 P%&��� ��$��� (�) �W-�� �"@�' 1.4.2.1.6 �R�%��� a�%��� \7� 

H���� �
 �.*N%�� ��%s � X3Y� �"����[ .��  `�'%&��� 9�&'1.4.2.1.6� 2.4.2.1.6$���� �L� �"���7 ��w"��' �7 .  
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FIGURE 9

Measurement of ∆E (dB) from height gain pattern

 �����9 

 ����(dB) ∆E ����	� 
��
����	� ������ ��� ���� ��� 

  

5.2.1.6  ������ ���� �������  

s� ��a�2�� ��=
�� #8 �=
��# �$)���� �=
�� T� ���#+�� ��_	 ��g d�4�r ���0� #8 ®"�g <4! ��s ������ J��g �
 #8 �=
�� +44f <=8 >! T4]�
�� #8 d]�
�� x��)U d=s
�2�� 75|�� >! ����16'� "�g ��Y� ���g q�9� �56 ^�P
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^�P9� 
� ���1��!� �$= >�H��� T4]�
�� �1�#�D ��.  
 �����3 :>! j
a� �K &
_R� <=8 >! �5��� ^�P &����� ��a��G� <!��! ��4K #8 $��Y	 ������ ��� �� ���2��� �4��� 

��-1�'� ������� �#$-�� : �5��� ^�P ��6�a��G� #8 ��a��G� ��
�� W��� $��Y	 ^�P . <��1�	#� ��!
���� q$o�� �H
����
�� �$Y��� : 4.2.1.6 . T,
1�� >P H]�2P n��#�4��1�� �������� q�9� �56 ^�P ��a�2�� ��=
�� #8 �=
�� ��
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 �����5 : ������� ��-1�G� �#$) : >a��� ng9� 
��� O�P L��@ >am)k = 4/3 ({�� <(��1�� ��� ���)U� T� ��
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 ^5�	 ?4@Ld ������� : (91)# LS ������� : (90))  �%@'�� N=��2 .( ���a�G�# ���4��� /
0 ���a�G� �G�@ : �!8
 �,��K �40��� ����( �$)���� ���)U� ^Y�1	 ?4@ ���4��� j#�0,5Ladd)  �G�@ : �!+R� ���f >P ���� /
0 ���a�G�

���4��� ( C��K Q���g �5��� ^�P ��a�2�� ���)U�#–0,5Ladd�4��1�� �������� ^5�� >a� 
�( O�P ^_K8 j£0 I:  

 ( ) dB1010log20
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 ?4@Ld ������� >P ±12	 (91)# Ls 

 ������� >P(90))  �%@'�� N=��2.(  
 "�³ T4]�
�� <4! ���#D &�e�16� >am# #8 q�9� �56 ^�P ����1�� ������ >P F=�2�� 
��� >! j�a!U� ��K �4�|1��

56 ^�P ����1�� ������ >P F=�2�� x��	G� C
-	�Q��! T	$,�%�� T	�, #8 q�9�  . �� d!�$�� &�e�16G� O4YX >am#
 ��4Y�� A�5P£� I>a� �@ ���8 �� 
��� �4��Ladd ������� : (95)�4K  ��40 ��_	 �Ld 

 >! <K8Ls 
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ªdB 0,3 �!�2P 
k =  ∞)  Q��= ���g ��4K ��41(� d����� �4�_�� ^�P F1�#�� k  <e!k = 1 × 910( �4�|1�# IAmax >a� �@ ���8 �� 

<4�� ���#+� §�$E ��41(� �56�
� . A�5P� >am <��Y���#ρeff   ������� :(90) >! ^�P8 #8 ���$K ��4K 1,0  h�� ±12� ?4ª
 ¡����� /$���dB 0,3)  �%@'�� N=��2 (&�e�16G� �4���� A���� <�K .��4K ��40 j
a	 ��� ���R� ����	 F1� �H³# ρeff 
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�c . T� �#�$1� ���Y¥ 
��� >! ����R� z!�, �4�Y	 �Y�$5�� CH, >P F�2�#2,5# dB 4.  
� >P ±	�2�� x��	G� C
-	 �4�� O4YX >am# j8 �� <4�� ���#D ����D O�$r >P ^�e! �Y�$5� �5��� : ����1�� �����

^_K9� C�@ �� q�9� �56 ^�P ��a�2�� ��=
�� #8 �=
��� d]�
�� +44f <_� . +44�1�� /$0 <_� �!�2P w�s ~�`#
^_K9� C�@ ��a�2�� ��=
�� #8 �=
��# �$)���� �=
�� T� .16� <=8 >! i�8 �\ <y�R� C
-1�� Q���	 �K�� <4�� ���#D &�e�

! s� d]�
��� �4=s
�2�� ��55|�� �0
	 
3 Iq�9� �56 ^�P ����1�� ������ >� ������� j(89) �s
� ���( �K� <K8 
 d�4]$�� ���� �#�@ >! L�$1KG� N! �y�(# d]�
�� �!+R ���Y�� �_� �b10) �%@'�� N=��1 .(�e16� j8 �¥# C
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��� >! ����R� z!�� :��� �4�� <��Y! OYb1� x��	G�
 ¡����� 
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 ������1 � ��� ������ 	
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� � ��� ���� ���� . !"##$%� &"'(
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�1� 234 ��56� 7�"8 9�:* ;<"=
�1� 	>� ?�� �
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 ������2 � 6� �I !"������ ��"�J K8 0�L�� ��� A�4M>�
�6� ��4�N  ON"� "'F� P-6� � Q�2(
%� !�R>%� )4 SE"3�� �TU� � <��
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-�2�a QR/6� �
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�� ^2�* f">@�* Q�X"T%� �E�%� f">@� M8  *� �E�%�
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8 M�"�'
�1� )
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�8 9�:* A�46� �I ������.  

 u��
@*� P-6� Y#� !"�"�(N� Rvw@ \�G] Y�
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���� >�a�# ������ ��=
�� #8 �=
��# �$)���� �=
�� T� <y�R�
 JX Q�4]+= G� �$)���� �=
�� �!+@ ���X 
��	 ��� �40$5�� �Y�5�� NY	 � �s� <Y� q�9� �56 ^�P ��a�2��# <(��1��

 ����) �4�4	�$16G�C .(H, J�K# �s� �� ��) <K8 ��$1�� d]�Y1�G� 
��� i40 j
a� 
� ^�P���� JX ���!�a� �Y�5�� C.  

 
��� ����D�# ��= >! �5��� ^�P ����1�� ������ >P F=�2�� 
��� ���Bl	 �4�� T� Q�4Y0�
	 Q'@ �42Y1�� CH, 
�51	#
t$(8 ��= >! ���4��� j#� ���a�G� �#$) : ��$��G�� T,
1�� >P F=�2�� . : ����
�� ���� ���0� ��P�K ��P8 �K#

� �$Y��1.2.2.2 ������� ���a�G� �#$) : ��$��G�� T,
1�� 
2E "�³ ) <!���� ����0 �456# ��4K �8k ( T,
	 �@�	� N!
 C��K ��$��G��dB 6Y�� �#$-�� : Q���$Y	 � ��4Y�� ���(%99,9) ke  . >! �40�a�� ����R� z!�
, ��s ��%�9� �� ��40#

K Q�4]��! >am IF%12�� 
������4��� j#� ���a�G� �#$) : ��g ������� �#$-�� : ��$��G�� ng8 T,
	 &
�.  
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k#���� #8 <4�Y�� <4�� ��s ������ �� ���2��� �4�9� �o��� �42Y1�� CH, . ��s ������ �� ���2��� Q�{�8 �4��� >! i�8 �\
1� :��� �4�� <=8 >! ���� ���0� �4�� 74���� <4������1�� ������ ���Bl.  

�� "'1(G�� ��4a-	 : Q�P��	�� <K9� d]�
�� ^�P j�!9� >! ��+¥ �42Y1�� CH, O�5	ay
�#  � d]�Y�	 <a-� �����16�� ^
 �$Y��� : ����
�� �Y�$5�� :1.2.6.  

2.6  ������ ������  

��$1��# ��#�+��# j�a�� : x
21�� ��42Y1�� CH, <�-	 .do�2�# ��$1�� x
2	 
2E  ���#+�� :# j�a�� : x
21�� ^�P ���1PG�#
 j�45�	 T142Y1�� T	�, j9 >a�# �Y�$5�� CH, : ng8 ����$1�� �4r &���16� �4���0 j9 7Y0 h4� I���24� N�p� ^�P #8

<{08 ±]�1� Q�!
�P : F%12�� 
��� �³�c ^�P �P��� �y�(  �a�� x
21��0)��� <e!
  >P �!+R� ���f ����( >P F=�2��
�_K §�� $(l	 N! 
p� : ������ ���	 ( ��24� I��$1�� d]�Y1�G� 
��� w�Hg# G ��$1�� 
�( �³�c G� ��$1�� x
2	 �41�

 d]�Y1�G�)# q�9� �56 ^�P ����1! ����! >P F=�2�� 
��� <e!/
p� : #8 .(��g ��$1�� x
2	 
2E do�2� �H�# >a!8 �
�45�� ^�P �%0�M� <=8 >! w�s. &'( >! w�Hg ���#+�� "'1(� k��|16� 
�40 I �a�� "'1(G� &���16� �2P �!8 

^�P9� �� ���1� ���#D 
� ��4]�
�� ���!� . "'1(� &���16� ��40 >am G ��� �G�R� : ���#+�� "'1(� &���16� >am#
�� <=8 >! #8 
6�2!  �a!��$�9� x��	�� �4.  

k�%2�� x
2	 ��
2K : ����)U� 7��$	 k�P t�¥ ��42Y1�� CH, <g �,$0
	 ��� >�b1�� �=�� O��1	# . ��%�9� : Id�a�#
�@�# ��$	 �2P 
��� O�P ��4]�_@� : >�b1�� ��` j8 /�52�� �Y4� �4�B��1�� . I/�52�� �{�$P �4�K$�� ��%�9� : �!8

X Q�{�8 O��140/�52�� <(�� C
-1�� ��4]�_@£� x
21�� >�.  

 x
21�� >�X <!�P "$��IW�1�� 
b2�� ^�P 
��� O�P �� ���2��� :  
 I = p  ( A ) / pd ( A ) (100) 

 ?4@pd (A) >! ng8 
��� O�P ��40 j
a� ��� JK
�� >! ��
S�� ���2�� 
, A ��24� I�5�1|�� x
21�� ���)� ��2K : p (A) 
�� 
,d�M� �\ ����� ����Y�� ��
S�� ���2 . &��! <=8 >! D#��1�� ��K#8 ���2� �4�K$�� ��%��� x
21�� >�X <!�P "$��#

 ��1��� : l5|�� T�!(BER)x
2	 '� #8 x
2	 N! .  

1.2.6  ���
� ������ ����! " ���#��$� %&'�()  

 ��%�8 : ��4]�
�� T� ��]'�� ��P���� ��b1	d, <!�
P �B'e� Q���	  �a�� "'1(G�:  
V  Q�P��	�� <K9� d]�
�� �� ���2��� j�a!U� ��K <4S� ���0� ^�P �%0�M� ��#$�)  �y��� ���4��1�� ��r� :

 �$Y��� : ����
�� ���0U��2.2.2 ( ^�P ����1�� ������ i���	 �H�� 
��� ~#�@ �@ ���8 �� ��|2� ?4ª
 q�9� �56) �$Y��� N=��3.1.6(¶  

V  ��� �� ���2���  �a�� x
21�� ��� >�X <!�P ^�P &
_R� ��#$�� A��� /
0 ��) �$Y��� N=��2.2.6(¶  
V   ��-1�� >P F=�2�� 
���� x
21�� d]�
, �� ����
�� ���)U� ���y� &��1@� >! >a� �@ ���8 �� �4�|1�� ��#$�

9� �56 ^�P ����1�� ������
�|�� $(u� d]�
�� q$�1� �!�2P q�.  

��4]�
�� T� ��P���� ���b1� ��
5�� A�$=� d�� ��40#:  
 �� ������1 �	 4:   >! ��
5�� O�5	1 �� 4 �$Y��� : ����
�� 3.2.1.6���X <=8 >! :  

V   Q�6�a��� <a-	 ��! �Y52! �
=#¶�5��� ^�P Q���g Q��#¦$!  
V  �� �� A
���� ��#$��5��� ^�P ����1�� ������� ��-1�G� >P ���2�� 
��� �G�@ �4�� "�³  �a�� x
21.  
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) �%@'�� N=��1
�$Y�� ��
p� : $eg8 #8 �@�# <��2! hg�P N! T1�5Y� <��2�� hg���� ��+�K ���@ �� ���2���  .( �s�#
�5��� ^�P ���) �#¦$! ��a��� Or�2! �=
	 �F1�  &�Y1�G�  �
5�� �� �$)��!8.  

 
����5: <!���� ������� F4Y�� t�! h�2� O��1� ��40 k5�� : ����1��� 
 �3 ���8 #8 L$K8 T� ��y���� ��0���� 
�X I
 T	��)� ���Y1��� ���)*� T	�#�c) ��-1�G� >P �E�2�� �=
��# �$)���� �=
�� T� <(��1�� T14��1������1�� ������� ^�P 

 <a-�� $%�� ¶�5���9:(  

 m
74,12/

150

)( 2
11

2

kdhf

d

−
=θ (101)  

 �0���� L��@ >amθ1 

 NK
�� :1 >P ����16G�� h1 #d1 ������� : (101) � h2# d2W�
1�� ^�P .  
���1M� �#¦$�� ��a��G� Or�2! N4� jl-� �
5�� CH, &���16� ���P�.  

 
����6 : �2a��� ^�e�� ��P���� L��@ <!���� F4K t�� x
21�� ��4]�
, T�kC'P8 ��
gH�� . 
 S1 = θ1 / 2, 3θ1 / 2, 5θ1 / 2 etc.     S2 = θ2 / 2, 3θ2 / 2, 5θ2 / 2 etc.         m (102)  

����1M� �#¦$�� ��a��G� Or�2! N4� jl-� �
5�� CH, &���16� ���P.  
 
����7:� ��#¦$�� ��6�a��G� ��s ������ �5��� ^�P ����-� : T	
5�� x��	�� x
21�� d]�
� §�$Y1�� x��	�G� 
�`

3-2 �$Y��� >! 2.2.2.2I�E�2�� �4��$Y1�� ��P���� Q�{�8 
�X#  1S ′��4]�
�� T�  . N! �4��$Y1�� ��P���� CH, ����Y! F1	#
 �
5�� >P �E�2�� ^�e�� ��P���� ��0��!6 ��40  F4Y� L
�5�� t��� ��k������� .  

 ��a�2! ���)� ��
6 NK
1	 ?4@ ������ ���@ :# ������� ���a�G� �#$) : �$)���� ���)U� ��
6 >! ���$K �5��� ^�P
) �456
�� ��4Y�� &���� ��k  #84/3 = k( �
5�� >! �E�2�� ^�e�� �4���� ��4Y�� ��41(� >�b1�� I6)  �8S1 

= θ1/2( ��4Yg 
 <!���� �456#k)  �%@'�� N=��2 (������� ��P���� �� ���2��� .  �a�� "'1(G� O�$r >P �R�_�� ����R� OYb1	 w�H�#

 <!���� >a� F4K t�! ng9k) .9� d]�
�� x��	�� ����D �{�|2�� ����$1�� �� ���2��� ��#${�� >! j
a� �K# � 
�# ^�P
� ¼G� w�s >P ±12�^�e! ��P��! $oy8 �� <y
1�(.  

 �$)���� ���)U� ��
6 >! ���$K �5��� ^�P ��a�2�� ����)U� #8 ���)U� ��
6 j
a	 ¼G8 
=
1� ?4@ ������ ���@ :#
 ������� ���a�G� �#$) :) N=�� T	$Y���4.2.1.6# 5.2.1.6�#$-�� CH, ���b1� ( �
52	 t$(8 �Y�$r &���16� >am I

1(� ^�P ������� ��45�	 ��� tna�� ^�e�� ���P���� t�@� ��4(102)) &�e! :S1 = 3θ1/2  #85θ1/2 ( <!���� �456# ��4Yg
k ��4Y�� >! L�$1KG� F1� ?4ª I1S ′ ��\
�� j#� . q�9� �56 ^�P ����1�� ������ >P F=�2�� 
��� ~#�@ �� w�H�#

���� ^�P �%0�M� N!
��� �G��1@� >!  �a�� "'1(G� �56�
� ���g  . �4�� >! ½E ��� ��]���� T� ��D�
�� do�2�#
 t�! ^�P ^�e! �\ ��P��! &���16� �$� T�# q�9� �56 ^�P ����1�� ������ : ��-1�G� >P F=�2�� 
��� ~#�@

 <!���� F4K >! N6�#k)  �%@'�� N=��3.(  
� >! j
a� �K# ���
5�� ������ ��� �� ���2��� ��#${�)A��� /
0 Q�!
�P ( �$Y��� : ��# ��g2.2.2.2 �B'B &���16� I

 �a�� x
21��� ��4]�
, .9� d]�
�� T� ��P���� j
a	 j8 do�2�# ±12	 �2a� ^�e! ��4K $oy8 ���R� CH, : 76#9� d]�
��# ^�P
 ������� >P(102) .1�� j8 do�2�# �$Y��� : ����
�� ���0U� ��P�K �� ��9� d]�
�� x��	�� �22.2.2.2)  �%@'�� N=��4.(  

 
����8 :���
� ��� ���� ����� ������ �� ��
��� ����!�: d]�
, x��	�� 
�` G� "'1( �a�� T	
5�� x��	�� 
3-2 �$Y��� : T	���
�� 2.2.2.2.  

 &
_R� ����
, ��P��! ^�P : ����
�� O]�$5�� &���16�� x�5Y�G�# x
21�� T�X �����@ t$E  �a�� "'1(G� d]
 T	$Y���1.2.6# 2.2.6 . �R� x
21�� ��P��! �D#�E �s�#m 23 = S ������� : ���
�� (102) CH, &���16�� L��R� �$3 

�8 �s j
a� �K ng8 ��P��! N! d����� >�b1�� j� s� �R� ��4Y��NK�
�� : ng8 �4 . ���p� x��	�G� �=�R� �2P 
�`#
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x�5Y�G� ��4�! A��416� <=8 >! ^�P9� d]�
��� . ��� 
� ^�P ��9� d]�
��� ���� ���0� ��X �s�# �G�R� F%�! :#
 �=
�� �!+@ ���f ~#�@ >!�@ <K8 �� �5��� ^�P �E�2�� ����1�� ������� 
���# �$)���� ��#${�� �\ >! i�£0 >a� 

^�P9� d]�
�� x��	�� ����D.  
 ������1 �  �� ����� �	
� �
��� ��
���� ������ �� �
���� 
��� 
� ���
 ���!� "��# $� %��&�� �'��!(� )�*����� )�+�, ���� -

.
/ �� - 0�1(� .2�3	� )�45�67 ��#��� �8�9 �:� �� �'��*� �';6� ��&,. ='# �8�� >
?
� @�1�A� >� B6:
 C�# D�� -
 

E,F� ��&��� - ��G8� D6/F� ��&�'� ��6*H� ��#��(� �I��*� J&*��.  

 ������2 �  �8
�+�� $�� K4�
 �8B���� L

M�� - N�&�A� O
B P�(� ='# �:6(� �Q4R "1�!� S�� ���T� �QIU�� - )�V*(� WX7 �����
(� %� �'1M�(� �Y����� ��+T� �Z�R �3�B %45�6[� �!# �*1�!(� �:6(�
 �
���(� �:6dB 3 . \�] S�� ^�F� _6R )�V*(� ��G8� J'E� �,


 �IU�!� ^�� J&` ='# @�1�A	� �Q4R)b'���� 6*1� 
� c/� �Q` ���.(  

 ������3 � \
�� e4�f ��5�R �Q4R O61� S�� ���T� ����#	� %�� �!7 X3g� ������ h7 J&*�� ='# �B���(� )�V*(� �# i:�!�� 6�j� 
i7F� . O618 �,
 ��E� k9 ��45+: 
� ��4'� �
���� $��
 V�� l'` ��*1A� m��� )�n �4R
/ ���/ 
� ^�F� J&` ='# o
p 6�j� �X7
V*(� .	
  ����'� ������� i4��� L

M�� WX7 - J'E�k=&`6�� �I4��� �# ��� S��  . ����R �&`6�� �I4, qr B�!�`	� D�6�F� $4s - hY�!8

����'� k)�45�6[� %� ='�(� ��#��(� 
8��� �:� �� .  

 ������4 �  ��B��I'� ����&� tBF� h5�6[�
 u`
F� h5�6[� %� ��#��(� O61� O� v4�9 �1�� �nr(102) ��#�, N����� �&4*� �86*� ��� 
 �B��6�� ��*R�� �
���� -2.2.2.2P�BF� �B6: K4� �� �4R�wr ��5�R k��9 �.  

2.2.6  *�+) �,-�.��- /��
� ����- �,-�.�� ���� ����! " �,-�.�� %&'�(
�  

A�{1KG� 
�@ A��9� ��
= >! ��+! ^�P &
_R� <=8 >!  �a�� "'1(G�# �#�+�� "'1(G� N� >am . ���!� F1	#
�� "'1(G� ��4]�
,  �a <y
1���#�+�� "'1(G� +�+�	 �� . �#D ���@ : <4�� ���#D ���X �41	 ��� �Y�$5�� d�� ��40#


2= �� Q��2= TP
�
! ��#�+�� "'1(�� j'��� ��4]�
, �#D ���@ : #8  �a! "'1(�� j'��� ��4]�
,.  
 
����1:¾4m 9� �� < d�4]$�� d]�
�� ^�P)^�P9� (, �#D :  �a�� "'1(G� ��4]�
) ��4]�
, �#D d4]�
, �@8 #8


2= �� Q��2= �P
�
��  �a�� "'1(G� ( �$Y��� : ����
�� ��A�$=U� 
�@ ���� ���#D O0# &�6�U� d]�
, w�Hg#
5.2.1.6)  �%@'�� N=��1 .(#�$1� ���Y¥ F%12�� 
��� >! ����R� z!�, �4�� �� <y
1�� F1� w�H�# T� �2,5# dB 6 

 &�e�16G� 7�2� Q���	)x��	G� C
-1� #8 
�|�� �4�� ^_K8 .( �Y� >P ��
�1�� q$P8 d]�
, �=�R� �2P <��1��#
2�� 
��� >! ����R� z!�,1F%.  

 
����2: <�69� �� <¾4m  x
21�� d]�
,)��9� (  �a�� "'1(G� ��4]�
, �#D :)�#D : $(u� d]�
�� #8 ��4]�
, 

2= �� Q��2= ��K�
�� �#�+�� "'1(G� (��9 ����Y�� ��#�+�� d�M� dY09� �
1��� �� ���2���:  

V   �!�2P ���� &
r ^�P ���-�� �#¦$�� ��a��G� C�E�� ��#�D∞ = k(¶  
V   ¡����� T,
1�� ����Y! ��#�DdB 3 ����1�� �
� �� Q���� ) �%@'�� N=��2.(  

 >am) ��#¦$! ��6�a��� ��P �
=# &�@ : �4Y0�
	 ����	 ��#�D ��41(����� &
r ^�P ���� .&�@ : �!8 �
=# k�P 
 �¿�Y! $e12! ��a��� t
K8 C�E� <��Y	 ��#�D ��41(� >am ���) �#¦$! ��a���)# �4��9� h���{1�� >P ±	��/��	��2�� #8 .(

�� �#$-�� : d]�
�� �H, ����	 F140 ¼G�#7�� �H, k�!8 O]�
P �
=# ���@ : O09� C�E�� #8 $_��� 7( C�E�� �����.  
 ������1 �  �&�A �# %45�6[� N����� >
�*� �!# �8
�*�� O61�` D����`	�
 D�`��� h45�67 qr ��*!��� ='�(� �4(� �8
�x O� �U�2� hY�!8

V*(� D6/ ='# J&*�� ='# @�1�A	� .�x y�� �����
 �8
�x y�� ��z >X�� h5�6[� �4� �8
 J&*�� @�1�A� W�{��) �
���� 
UA�5.2.1.6.(  

 ������2 �  m
B+� �!7 B6M!(� h*45
�� .�[��I18
- :  

}  F� h5�6[� u4'3 �# ���: ~'�� J&*�� ='# �*1�!(�
 �
���(� )������ )�86` �� u4'3 qr �;6��� i����� 6� ='# i�8 nr ='#
��1� �� y�� qr �8�
+�� N6!� )�V��� �4R  

}   ='# 
��� 
� ���
 o
p - �
���(� �:6(� ��+� �8�� �# i:�!�� iU�!(� 6��'� �4`���� L

M�� - -�w�� N6!��� v8
/ �# �8�IT� VR6�
 V*(� D6/)	�T� WX7 ��� - J&*�� ='# �x+�(� �*1�!(� ������ �86` O� ��8 ��P�w6G�� ���# _6R c'�F� ='# =���` ).(  
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 �o����� �R� ��4K "�¸#dB 3 �!�2P �y�( Q���g Q����¯� x
21�� d]�
, �� ��y�
�� �$)���� ���)U� ��
6 q��¯� 
2E �� 
d]�
�� �H, k�!8 �$)��! ���-�� �#¦$�� ��a��G� ~�`.  

 ��=
! j
a	 �K �E�2�� <4�� ��#�D j8 ¢@'�# �$)���� ���)U� L�y8 �s� �y�( ������� �#$-�� : $_��� 7( �� ����
 �#$-�� CH, <e! : ��$��G�� ��g T,
	 x
21�� d]�
, �� ��y�
��)&�e! : d]�
��"j
0���.("  

3.2.6  001��� ���� ����! " ��001��� 23
  


2	 ��40 j
a� �K ��4�K �G�@ �45o1� F�Y�� �H, ��!
��! Àl	 x
21� Q�Y0�$! #8 Q��]'! #8 Q���#$� �=�R� 
��� ��$1�� x
��#�+��# j�a��.  

<!�
P �B'B &'( >! ��$1�� x
2	 ��%�8 : ����R� ��
2K# �4�4]$�� ��
2Y�� T� F]'�� ����$1�� <_0 ��b1�#:  
V  �R�_�� k�%2�� ��$	 �5() ��4y
1�� N=��SG 9(¶  
V 
2	 >�X <!�P ^�P &
_R� ��#$� n�� /
0 ������� ���� ��$1�� x) �$Y��� N=��2.4.2.6(¶ 
V  ���)� i40 
�� �H�� JK
�� h�� : �@�
�� ��$1�� ���)� 
�( &��1@� �4�Y	 : ��\$��� ^�P $(¦ ��$1

��a��G� ����) ����!.  
����$1�� <_0 ���X <=8 >! �
5( �
5�� A�$=� d�� ��40#:  

 ������4-1:! ��
5�� O�5	  >1 �� 4 �$Y��� >! 3.2.1.6���b1� :  
V ¶�5��� ^�P Q����) Q��#¦$! Q�6�a��� F{	 ����! Or�2! �
=# k�P  
V �5��� ^�P ����1�� ������ >P F=�2�� 
��� �³�} ��$1�� x
2	 ��#$� . Or�2! �
=# k�P &�@ :#

 �
5�� �� &�Y1�G� I�5��� ^�P ���) �#¦$! ��a���8.  
 
����5:���  F4Y�� t�! h�� �� ���2k �
5�� : ����
�� ������� 3 ��2Y�� : ����$	 <_0 ��9 ^�e�� ��4Y�� 
�X 

�������� ����R� ��
2K# �4�4]$��:  

 MHz

74127412

1057

2
2

2

2
1

1

4

min














−














−

×=∆

k.

d
h

k.

d
h

d.
f (103)  

 >P n�� ?4@h1 #h2 >P# ��1!9�� d# d1# d2��$1!
�4a���  .H4�2	 F1�#�
=# &��1@� �2P �
5�� CH,  ��a��� �Y52! 
�#¦$!.  
 
����6 :�������� ����R� ��
2K# �4�4]$�� ��
2Y�� : ����$1�� <_�� ���1M� ^�e�� F4Y�� 
�X:  

 MHzetc.3 minmin ,f,ff ∆∆=∆ (104)  

¹�2	�#¦$! ��a��� �Y52! �
=# &��1@� �2P Q�{�8 �
5�� CH, H.  
 
����7  " ��� 
���� ������ ��#����� $� ����!� ���
�: ���)U� ��
6 ��40 j
a	 j8 NK
1� ��� ������ �� ��40 

 ������� ���a�G� �#$) : �$)���� ���)U� >! ���$K q�9� �56 ^�P ��a�2��) ��4K �8k #8 �56
1! 4/3 = k ( j
a�
 �
5�� : ±	�2�� ����$1�� W�e! <_0 ��85  <e!9� <_��� 
,) �%@'�� N=��1 .(5�� �� t�! ng9 ��$1�� x
2	 ���� d

 F4Y��k . ����$1�� �5� �2a��� ��4Y��# �4��e�� ��4Y�� T� d56# <bg d����� ����$1�� <_0 Àl� j8 do�2� N�5���#
�$�41�� .�E�2�� ��9� ��4Y�� C�E�� �$�41�� ����$1�� �5( N! ��4)�f "�³ �4��e�� ��4Y�� <���	 <g j
a� j8 do�2�# >! 
 �������(103) N! ∞ = k . <=8 >! ^�e�� ��4Y�� N! �#��1�� k�P ��1` d����� ����$1�� <_0 j8 ^�P �4gl1�� do�2� i�8 ¼G�

��$1�� x
2	 O�$r >P ����R� ��� ^�P &
_R�. �$Y��� : ����
�� �Y�$5�� &���16� >am# 2.4.2.6 : �@ ��)�*� 
�46�a��G� ������.  
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� ��40# ���)U� >! ���$K q�9� �56 ^�P ��a�2�� ����)U� #8 ���)U� ��
6 ��40 j
a	 j8 NK
1� G ��� ������ �
 ������� ���a�G� �#$) : �$)����) T	$Y��� N=��4.2.1.6# 5.2.1.6���R� d, CH, J��g �s� ��40 J���  ( �Y�$r ��2,

����� �G�@ : �2a� j
a	 �K t$(8 F4�_	 . ������� >P �E�2�� ^�e�� ����$1�� <_0 F4K ng8 t�@� ��41(G w�s#
(104) �56
1�� F4Y�� �� ���2��� k ���� �����!# ����$1�� �5( w�H� JbÁ �s� ) d]�
�� �P��	�� j
a� j8 <e!

 ��#${���h1# / #8h2hg���� �5��� /
0  (Nr�Y1�� /�52�� x
2	 &���16� #8 .� $5( �
52�# ����$	 <_0 &���16
 F4K t�! q$P h�� ^�P i14���0 k�P ^�P ^�e�� �4���� ��4Y�� >! q$P8k ������� ) �%@'�� N=��2.(  

 ������� O�5	 j8 do�2� $eg8 #8 T1�_�2! T1�5K d5�� $eg8 #8 �@�# <��2! �$a! N! ��+�Y�� �� ��40#(103) <a-� 
�	 ��� ���5Y�� >! ��5K <g ^�P <Y1�! ��4Y�� ^�P &
_b�� ±]�12�� <g N��Â	 j8# ����) ��#¦$! ��6�a��� >!  �

 �4�a��∆fmin .N�p� �4��P : ����� do�240 ���) �#¦$! ��a��� ^�P �
1X G ��� ���5Y�� �!8.  
 
����8  "%&'� ��# ��� 
���� ������ ��#����� (��) ����!� :  &���16�� x
21�� >�X �����@ t$E �Y�$5��

 �$Y��� : ����
��2.4.2.6����$1�� �5( �#$) >�� ��P�5Y�G� >! ��� da� ����$1�� <_0 t¾
��# .  
 ������1 �  L

M�� - ��6�� V� O61�
 P�(� J&` ='# �*1�!(� �:6(� �Q4R \�9 S�� )�V*(� h7 )�V*(� WX7 O61� �� ������

:6(� %� �8
�+�� $��
 �8B���� �Y����� ��+Z'� ������ ~EA �Z�R �Iw %45�6[� �� �� - �*1�!(� �:6(�
 �
���(� �dB 3 . O61� �,

 ���: �IU�!� ^�� J&` ='# @�1�A	� �Q4R \�] S�� y�� _6R )�V*(�)b'���� 6*1� 
� c/� �Q` ��� .( �ER 
Y;� \�] %���T� -


67 N����� )�n �VE��� )�V*I'� ����"����� J&*�� _6R D�# h5�.  

 ������2 �  �1z �A���I'� �'����� V� )�86*�� )�n �'� �;�3
 J&*�� ='# ����
 �*1�!� ����r �� 
��� iG� S�� )�V*(� qr ��*!���
)�BB
��� �&3 - �B6:6(� �'�
 �� ��!�(� )�BB
��� �E�� ��8���� �4���(� i4��� %� u`
 �� B��r .� ��
 ��� S�� i4��� O� ��G8� 
�X��� 
8��

N6!��� �8�� e�� J4�� )�BB
��� �E�� ='�(� i4��� �#.  

4.2.6  4�5�� 6�7��� ����! " ���
� ������ 8	9  

 ������� �56�
� In�� /
0 ��! ^�P /�52�� �Y4� ����)U d68$�� �
1��� :  �a�� "'1(G� >�X <!�P ��Y� j8 >am
4��1���:  

 ( ) 10/)–(04,1–
0

48,012,0–87,0 1040,0–exp–1
VA

pdfSI




 ×= (105) 

?4@:  
 V = G1 – G2 (106)  

N!: 
  A:   
��� O�P(dB)d�M� �\ �����   
  P0:  
��� ~#�@ <!�P (%) ������� >! ±	�2�� (10) #8 (11) 

  S:   d68$�� <_���)+g$! �� +g$! >! ( &��Y16G� ��4]�
, T�(m)  
  f:   ��$1��(GHz) 

 d:   ���� &
r(km) 

 G1 IG2:  T4]�
�� ���g(dBi).  
 ������� �21�	(105)  ��6����� �2p ��45�! w2� : �$0�
1�� ��45��� ��3 <=8 >! ��
���$�� �G�_	'�  ���!8�4��1�� ���o1��: 

km 240 ≥ d ≥ 43 IGHz 11 ≥ f ≥ 2 I#m 23 ≥ S ≥ 3 .	 �K ������� CH, jl� ��Y1PG� �� 
P�	 L��68 �¨# &�
r9 �R�y ^Y�
 �� <_	 ��oy ��!km 25 . D#��1�� >! ��
S�� ���2�� 
�X j8 >am#pw ������� &'( >! (7)  #8(8)A�{1KG� 
�@  .

 ������� j
a	#(105) i40 j
a	 �H�� O4���� 
��� t�! : �R�y  �������(7)  #8(8) �R�y.  
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5.2.6  ���:1�� ����;� " ������ ������  

 ��� ��%��� w�Hg# ��#�+��# ��$1��# j�a�� x
2	 ��%�9 x
21�� T�b1�# x�5Y�G� �G��1@�� ��21�� �$0
1! /$r ��2,
 T� N�E��$1��# j�a�� x
2	 ��42Y	 .W�1��g d, �
5� �
5( ��A�$=U�#.  
1.5.2.6  ���
� ������ <�&=�>� &�' ��7����? @(����  

 <a-� ju� �@ k�|16�t
_Y�� ���Y�� #s k��{��  �a�� x
21�� ��%�8 : ��g .O�52�# k�Y�� �
5� �
5( A�$=U� 
k��{�� �H, <e! k�|1�	 ��� ��%�9� ^�P C���8 . C
-1�� >! Q'g k�|1�	 Q��4Y�	 $eg8 F4!�{�� >! t$(8 x�
�8 ��2,#

5�	 �K# I��
���$�� ��2Y�� F44Y	 
�@ t
_Y�� ���Y��# ��9��! �@ �� <{08 A��8 d.  
 
����1 : ����1! ����! nP ��-2�� <!�P 
�`η �
5�� <e! 2 �$Y��� >! 1.4.  
 
����2 : d]�Y1�G� �\ 7��$1�� <!��! N�$! 
�`kns�4��1�� �o4_�� >! :  

 η
×−= nsns

ns

PI
k 1
2

 (107) 

 T�b1�� F44Y	 >am ?4@Ins ������� >! (105) 
��� O��� (dB) A F%12�� 
��� >! ����R� z!�� <��Y�� (dB) F)  N=��
 �$Y���6.3.2( #Pns ������� >! (29).  
 
����3 : W�Y1�G� 7��$1�� <!��! N�$! 
�`ks�4��1�� ������� >! :  

 ( )
( )








>−−
≤<−−
≤

= −−

9628,0for13957,01

9628,05,0for1195,01

5,0for8238,0

5136,0

)1(log13,0109,02

ww

w

r

w

w

s

rr

rr

r

k w
 (108) 

 7��$1�� <!��! �4��1�� �o4_�� d5�	 ?4@rw�4��2�� ��P��	'� :  

 







>−−
≤−−=

26,0for16921,01

26,0for1974601

2034,12

2170,22

)(

)(

nsns

nsns

w

kk

kk,
r

 (109) 

 
����4 : d]�Y1�G� �\ x�5Y�G� &��1@� 
�`Pdns�4��1�� �o4_�� >! :  

 

ns

ns
dns

I

P
P = (110) 

 ?4@Pns 

 ������� i45�	 �H�� d�M� �\ x�5Y�G� 
,(29).  
 
����5 : d]�Y1�G� x�5Y�G� &��1@� 
�`Pds�4��1�� �o4_�� >! :  

 

)( 2

2

1 s

s

ds
k

P
P

−η
= (111) 

 ?4@Ps ������� i45�	 �H�� d�M� �\ x�5Y�G� 
, (67).  
 
����6 :W�1��g W��U� x�5Y�G� &��1@� 
�`:  

 

3/4
75,075,0 






 +=
snddsd PPP (112)  
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2.5.2.6  ��	��� 
��� 
������ ��� 
������� ������  

 k�%2�� ^�P �!�Y�� �Y�$5�� O�52	1 + 1 .�@ : A�$=U� h�� N�1� �
5�� j8 /��0 N!  �a�� x
21�� ��2 �o4_�� k�|1�	 
�4��1��:  

 

10/
10

80 F
ns

f

f

fd
I 







 ∆= (113) 

?4@:  
 ∆ f:   ����$1�� <_0 (GHz) J��g �s�GHz 0,5 < ∆ f <��1�� ∆ f = 0,5 

 f:   ��!�R� �=
�� ��$	(GHz).  
  F:   F%12�� 
��� >! ����R� z!�,(dB)  
 O�5	 GP G� ������� CH,�4��1�� ������� ���!8 ^�:  

GHz 11 ≥ f ≥ 2  
km 70 ≥ d ≥ 30  

%5 ≥ ∆f/ f   

3.5.2.6   
������ ��� 
������� ������
�����������   

 
����1 : �56
1�� &
y
�� ��#�D ��Y	µθ�4��1�� �o4_�� >! :  

 dG
m

⋅⋅⋅=µ −
ϑ

5
1089,2 (114) 

 ?4@Gm ���a�G� ���1� �56
1�� ��4Y�� d, )���@#Vkm/N .( ���# <a-� �
K d��8 ��a��� �
=# ���@ :#
 $��Y	 >amµθ������� ��-1�G� "#$� : ha�2�� x��-�� &
y# ��#�D >! .  

 
����2: *+�,-�.� �/ 01�� �2��� 3�4 r��
�-
� �5�6
� �� :  

 

( )







≤

>+




 +Ωδ=

1for

1for963,030/150sin113,0

qq

q
r (115) 

?4@:  

 

)/()/(
593,00437,05052

δεΩδ ××=q (116) 

#:  
 δ:  ������ ���	
��

��� �� � 

 ε:   ����� ������ �	���� �����)���� �	!� " #$��( 

 Ω:  ������ %	

& ���' ���*�� +,- �./0.  

 
����3 : d]�Y1�G� �\ 7��$1�� ����! 
�XQ0�4��1�� �o4_�� >! :  

 

( ) ( ) ( )[ ] ( ) ( )[ ]











××







 ×= δεΩδδεΩδµ−µ Ωδ
θθ

2152,2978,1/2
////879,158,24

0 601,4615,3469,2109399,0rQ (117) 

 
����4 : ����1! ����! nP ��-2�� ����! 
�Xη� <e!  �
5�2 �$Y��� >! 1.4.  
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����5 :�4��1�� �o4_�� >! d]�Y1�G� �\ x�5Y�G� &��1@� 
�`:  

 

6,6/–
0 10

F
dns QP ×η= (118)  

 
����6 : d]�Y1�G� 7��$1�� <!��! N�$! 
�`ks,�4��1�� �o4_�� >! :  

 

( ) Ω
θθ

µµ µ−µ−δ






 ××−= θθ 23,232
638,0188,0211,010694,00763,01

2

s
k (119) 

 
����7 : ±12�>! d]�Y1�G� x�5Y�G� &��1@�'��� �K4��1�� �:  

 ( )P
P

k
ds

s

s

=
−

2

2
1η

 (120) 

 ?4@Ps d�M� �\ x�5Y�G� 
, ) �
5�� N=��3 >! �$Y��� 1.5.(  
 
����8 : W��U� x�5Y�G� &��1@� 
�` ����2�� :Pd�4��1�� �o4_�� >! :  

 

3/4
75,075,0 






 +=
snddsd PPP (121) 

4.5.2.6  �� ����� �	
��� 
������ �
� �������� ��
��� ������ �	
)�������(  

 
����1 : d]�Y1�G� �\ 7��$1�� <!��! ^�P <_`kns�4��1�� �o4_�� >! :  
 k k kns ns s ns f=

, ,
 (122) 

 ?4@kns,s# kns, f  �a�� x
21�� j��
�M� d]�Y1�G� �\ 7��$1�� '!��! �� ) �$Y��� N=��1.4.2.6 ( ��$1�� x
21�#) N=��
 �$Y���2.4.2.6 (�PW�
1�� ^.  

 �a�� x
21�� ���@ : ���1�� ����� d, �4��1�� ��
5��.  
5.5.2.6   ������ �	
�� ����� �	
��� 
������ �
� �������� ��
���)������� !"�#$(  

 
����1 : 
�`η �
5�� <e! 2 �$Y��� >! 1.4.  
 
����2 : x
21�� ����! 
�XmnsW�1��g :  

 

( ) ( )m k kns ns s ns f= − −η3 2 2
1 1, ,

 (123) 

 ^�P &
_R� F1� ?4@kns,s# kns, f �$Y��� : ��g 4.4.2.6.  
 
����3 : d]�Y1�G� �\ x�5Y�G� &��1@� 
�`Pdns�4��1�� �o4_�� >! :  

 

P
P

m
dns

ns

ns

=
4

 (124) 

 ?4@&
_R� F1� ^�P Pns ������� >! (29).  
 
����4 :0�a�� d]�Y1�G� �\ 7��$1�� <!��! N�$! 
�` «kns�4��1�� �o4_�� >! :  

 ( ) ( )k k kns ns s ns f
2 2 2

1 1 1= − − −η , , (125) 
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����5 : «0�a�� d]�Y1�G� 7��$1�� <!��! 
�`ks  �a�� x
21�� ���@ : k�|1��� A�$=U� h�� x��	�� ) �
5��3.(  
 
����6 : d]�Y1�G� x�5Y�G� &��1@� ^�P <_`Pds�4��1�� �o4_�� >! :  

 ( )P
P

k
ds

s

s

=
−

















2

2

2

1η
 (126) 

 ?4@Ps ������� i45�	 �H�� d�M� �\ x�5Y�G� 
, (67).  
 
����7 : W��U� x�5Y�G� &��1@� ^�P <_`Pd ������� >! (110).  

7  ����� ����	
�� �
����  

�4��1�� �o4_�� >! :�_�� 
p� ���Bl	 �� �]���� W��U� x�5Y�G� &��1@� 
�`:  

 P
P P P

P P
t

ns s XP

d XP

=
+ +
+



 if diversity is used

 (127) 

 �� <y
1�� �O]�$5�� x��	�� �o4_�� CH, ��$Y��� : ����
�� 6.3.2# 1.4# 1.5# 4.2.6.  


�`# T� ng9� ��4Y�� A�Y1��� $5�� �� �]���� W��U� x�5Y�G� &��1@� Prain# PXPR O]�$5�� x��	�� ��4�� <y
1�� � ��� 
 T	$Y��� : ����
��6.4.2# 2.2.4.  

��P8 �Y� O]�$r ��21�� �4�K$�� ��
���$�� ��%��� x�5Y�G��x�5Y�G� ~#�@ ��$�	 �� Q���216�  : &���� /
�� �!�2PBER 
 �24�! ��4K)3−

10 × 1Q'e!  ( �4y
1�� ����51� ����16� w�s#ITU-T G.821 . A��9� l5(# x�5Y�G� T� 7�$�#$�41��# 
) ��4y
1�� N=��ITU-R F.594 #ITU-R F.634 #ITU-R F.695# ITU-R F.696# ITU-R F.697# ITU-R F.1092 
#ITU-R F.1189# ITU-R F.557 .( 7�$� ��g d6�68 <a-� A��9�# :�_�� 
p� ���Bl	 �� �]���� x�5Y�G� T� 7�$�#

 <r�
�� �� �]���� x�5Y�G� T� &�
@9� 
�\8 :$�41��# . : :�_�� 
p� ���Bl	 F,��	 �K w�s N!$�41�� F,��	 �K# 
A��9� : <r�
��.  

8  ����� � ����� ��� ����	
� �	���  

 �4y
1�� k�a@9 Q�Y0# �!��� : �! k�%� N�# A�2B8 �����1(� A�$=� �2PITU-R F.1330 �2��� ��$10 
2E >�b1�� 
����1! ����¥ ��-1�G� &
_@ &��1@� �,A�2B8 ���+� ��� ���2�� ��P�6#.  

$��8 �K#���1�! Or�2! : �$= ��� ��6����� ��� ���2��  ��-1�G� ���Bl	 ~#�@ &��1@� <Y� i�8 �4K$-�� ��#�#8 >! 
<_��� �H� TY����� >�$�-�� &'(# A�1-�� : ����1�� ������� . : Q�4!�+�� �,Ä�$=� do�2� ��� �����1(G� �� ��40#

�40 <Y� ��� �����2�� �$1��� j£0 �4_�� T� �! �$1��� d, �����1(G� 
�@ �@ ���8 �� ���Bl1�� CH, ~#�@ &��1@� �
 �P����10# 14d�M� J4K
1�� 
�@#  .t$(9� &
_��� �� ���2��� �$1��� CH, �by q�$10� Q�4Y52! >am#.  

 q$P 7( �2P �4�$o�� ��#�#8 >! ��2�� �4�@�6 Or�2! : J�$=8 ��6�4K �$��8#°60i�8 QG��  ~#�@ &��1@� <Y� 
 �P���� T� �! �$1��� : ����1�� ������� ��-1�G� ���Bl	1300# 2000<_��� >P $%2�� �o� d�M� J4K
1�� 
�@  . ��g

����1�� ������� ��-1�G� >P F=�2�� 
���� Q�$Bl	 ��$1��� <K8 J��g A�1-�� �$10 j8 .N4�$�� v >!# ��$�� �$10 �,��� Àl	.  

x
21�� ��42Y	 &���16� ���@ : 



45 ITU-R P.530-11 !%&	��� 

� ������1 

 �	
�
�1  

 ����!� "#��$� %��&�� �'�( ��'�)K   
*� +�,-�	� .�� /�0 1�23� 45� �
�� 6�7, 1�7�&�  

 
����1 :
68 : "'o�� 
�( N�D
	 ^�P <_`<4o-1�� >! �26 <a� dm
Y	 $�) 8 �56
1�� ��4Y�� &���16� &'( >! 
i4�=$! ��4Yg <�
5�� t��� ^�P .&��! ��` v 76
1! $�) 8
69 
�|�� d�g�$1�� N�D
1�� ^�P &
_b�� N�D
1�� �H, 

d�1���\
� i�)  �4� 75� ^�P iÁ�#.  
 
����2 : 
��� O�P  �4��� F6$�� ^�P <���A1 ���2�� ^�P <_`# CA��# Q���$Y	 Q�45( d�g�$1�� N�D
1�� j
a� �H�� 

 JK
�� >! ����Y�� ��
S��p1 .� A+p� �H, <a-�# ���Y¥ i�4! �o1� j8 >am �H�� ��a�� 
��� O�P <�s d5�3 #8 dB 4 <a� 
��$-P ��4K 76
1! �� ���2��� "d����" "Rayleigh" >! dB/decade 10 ��4K ��
26 ���� �o1�� �H, x��	� O��1�# I

76
1�� N�D
1�� ��2�{1� ��� ��45���.  
 
����3 :���� <4! 
�` | εp | Q�K'5�� ������� >! (6).  
 
����4 :��4B��@U� &��1�	) P1# A1( "<�H�� >! �5Y� &#9" ������� : (7)  #8(8)  F4Y�� N!d#  f#  | εp |I���R� O0#  

�`# <!���� d(�2�� :�$op� K.  
 
����5 :���� #8 I�³�-! �4��8 h���{	# ��2¥ �Y52! >! ����! ���� ��45��� $0�
1	 �!�2P²� I����$	 ... ^�P I

 F4K 76
1! ���X &'( >! 76
1! :�$o= d(�2! <!�P ^�P &
_R� >am I�@�# ��!log  K.  

����������  
  


